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Number of Questions to be attempted : 42

Section Marks : 100
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Sub-Section Number : 1
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Question Shuffling Allowed : Yes

Question Number : 1 Question Id : 7108709729 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Teaching differs from training and conditioning in so far as it promotes

1. Disciplined drill

2. Critical thinking

3. Steady association
4. Mastery of facts
Options :
71087038881. 1
71087038882. 2
71087038883. 3
71087038884. 4

Question Number : 1 Question Id : 7108709729 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Frafafaa # 9 foad dada o e &rd uf2iar sk sHde= 9 i 8 2
1. AR g
2. AT fddq

3. RR R

4. Al H ydior
Options :
71087038881. 1
71087038882. 2
71087038883. 3
71087038884. 4

Question Number : 2 Question Id : 7108709730 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

In the spectrum of teaching methods given below, which are considered dialogic?
A. Laboratory work

B. Demonstration

C. Tutorials

D. Group discission

E. Project work

Choose the correct answer from the options given below

1. Cand D only
2. A and B only
3.B and Conly
4. D and E only



Options :

71087038885. 1
71087038886. 2
71087038887. 3
71087038888. 4

Question Number : 2 Question Id : 7108709730 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :
71087038885. 1
71087038886. 2
71087038887. 3
71087038888. 4

Question Number : 3 Question Id : 7108709731 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question



Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Identify from the following, those features of key behaviours which are contributive to the
effectiveness of teaching

A. Lesson clarity which implies making ideas clear to the learner

B. Questioning-implying fact and concept based questions

C. Probing involving eliciting and soliciting moves

D. Teacher-task orientation with a focus on outcomes of the unit clearly defined

E. Engagement in the learning process which implies the amount of time students devote to
learning

Choose the correct answer from the options given below:

1. A, B and C only
2.B, Cand D only
3. A, DandE only
4. B, D and E only
Options :
71087038889. 1
71087038890. 2
71087038891. 3
71087038892. 4

Question Number : 3 Question Id : 7108709731 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :
71087038889. 1
71087038890. 2
71087038891. 3
71087038892. 4

Question Number : 4 Question Id : 7108709732 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Which of the following factors contributing to school learning are termed as social
competence?

A. Motivation

B. Intelligence

C. Social skills

D. Family support

E. Specific abilities of the learner

Choose the correct answer from the options given below:

1. A, Cand D only
2. A, Band Conly
3.B,Cand D only
4.C, D and E only
Options :
71087038893. 1
71087038894. 2
71087038895. 3
71087038896. 4

Question Number : 4 Question Id : 7108709732 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :
71087038893 1
71087038894. 2
71087038895 3
71087038896. 4

Question Number : 5 Question Id : 7108709733 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Match List | with List 11

List | List 11

Methods of estimating the reliability of a|Description
test

l. Administering the test in one session with

A, Test-retest method : ]
two equivalent halves of the test for correlation

Il. Two or more raters score the test
B. Alternate form method .
independently

, lll. Administering the same test to the same
C. Split-half method , .
group at two different sessions

IV. Administering the two forms of the test to
D. Inter-rater method

the same group at two different sessions

Choose the correct answer from the options given below:

TA-LBE-UI,C-1,D-1V
2ZA-ILB-1L,C-1V,D-1I
SA-IVB-IL,C-I1L,D-1
4AA-1ILB-IV,C-1,D-1I
Options :

71087038897. 1
71087038898. 2
71087038899. 3
71087038900. 4

Question Number : 5 Question Id : 7108709733 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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TA-LB-1,C-1L,D-1IV
2ZA-1,B-1,C-1V,D-1I
3A-IV,B-NIILC-1I,D-1
4 A-ILB-IV,C-I,D-1
Options :

71087038897. 1
71087038898. 2
71087038899. 3
71087038900. 4

Question Number : 6 Question Id : 7108709734 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Which of the following research is intervention-based, cyclic in nature and improvement
focused?

1. Case study research

2. Survey research

3. Experimental research
4. Action research
Options :

71087038901. 1
71087038902. 2
71087038903. 3
71087038904. 4

Question Number : 6 Question Id : 7108709734 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :
71087038901. 1
71087038902. 2
71087038903. 3
71087038904. 4

Question Number : 7 Question Id : 7108709735 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Using an appropriate parametric test in a research project, the researcher finds evidence to
reject the Null hypothesis. In doing so, which type of error is likely

1. Alpha error

2. Beta error

3. Both Alpha and Beta errors
4. Neither Alpha nor Beta error
Options :

71087038905. 1

71087038906. 2

71087038907. 3

71087038908. 4

Question Number : 7 Question Id : 7108709735 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

71087038905. 1
71087038906. 2
71087038907. 3
71087038908. 4

Question Number : 8 Question Id : 7108709736 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



A college/university teacher plans to test his/her substantive research hypothesis in a major
project. Which of the following statements are considered relevant in this regard?

A. Substantive research hypothesis has to clearly specify the relationship among variables
B. Research hypothesis may be directed at finding out differential effects or relationships
C. Null hypothesis should be formulated beforehand

D. There is direct support available for testing the substantive research hypothesis

E. The final decision on the research hypothesis may be reached indirectly by deciding the fate
of the Null hypothesis

Choose the correct answer from the options given below:

1. A, B and C only
2.B, Cand D only
3. A, DandE only
4. A B and E only
Options :
71087038909. 1
71087038910. 2
71087038911. 3
71087038912. 4

Question Number : 8 Question Id : 7108709736 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :
71087038909. 1
71087038910. 2
71087038911. 3
71087038912. 4

Question Number : 9 Question Id : 7108709737 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Match List | with List 11

List | List 11

Sampling techniques used in research |Description

A. Simple random sampling . The units are identified in terms of various
specific features identified before drawing a
sample structure

B. Systematic sampling Il. Each unit is given an equal independent chance
of being picked up

C Di . I i lll. The k-interval is obtained by N/n and the units
. Dimensional samplin , ) _
Ping are drawn using the same, where N is population

size and n is desired sample size.

D. Snowball sampling V. First member unit is used to identify the second
unit and so on

Choose the correct answer from the options given below:

T.A-1LB-IV,C-1I,D-1l
2ZA-1,B-NL,C-1,D-1IV
3A-IV,B-1I,C-1Il,D -1
4 A-ILB-L,C-IV,D-1
Options :

71087038913. 1
71087038914. 2
71087038915. 3
71087038916. 4

Question Number : 9 Question Id : 7108709737 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



i-1 5 =Y H U Wi it 61 741 § Wi aii-1 H 3t ol 61 i 8 | G-l

®I Gall-1l & qry Gaferd & -
gal-| gal-Il
|

A FHETY

. . mfcreRt W=AT ST U gd ifisiiid & fafiy dam
|ﬁ; i & IR el @I AfiIid ot o 8

B. MY ||l Ul gf-e &l 9af-d ®- o 6 99H 3R Wdd HaW
ufdaos e Srar e

s 1. K - HaRTel N/n T TR ol SiTdT & 3R S9®1 JUdi &
'ﬁ el @1 [AdTer 9l 8, Sigl N 9P HeR ([@5d ) AR n
Uides HHRE |

D. |G |Iv. U¥H UeH gi-e fgdid gie @I Sifisiitd & o g
Ufdgad  |[JART @1 ol g1 98 3Haid 9adl tedl 8|
fofeiad © 4 9l SR o1 98 & ;

T.A-1LB-IV,C-1I,D-1l
2ZA-1,B-NL,C-1,D-1IV
3A-IV,B-1I,C-1Il,D -1
4 A-ILB-L,C-IV,D-1
Options :

71087038913. 1
71087038914. 2
71087038915. 3
71087038916. 4

Question Number : 10 Question Id : 7108709738 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical



Correct Marks : 2 Wrong Marks : 0
Given below are two statements, one is labelled as Assertion A and the other is labelled as
Reason R

Assertion A: Empirico-inductive paradigm in research focuses on meaning-giving subjective
perspectives to depict reality

Reason R: The purpose of research in this paradigm is not to arrive at generalizations but to
discover the reality as lived

In light of the above statements, choose the most appropriate answer from the options
given below

1. Both A and R are correct and R is the correct explanation of A

2. Both A and R are correct but R is NOT the correct explanation of A
3. A is correct but R is not correct

4. A is not correct but R is correct

Options :

71087038917. 1

71087038918. 2

71087038919. 3

71087038920. 4

Question Number : 10 Question Id : 7108709738 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

71087038917. 1

71087038918. 2

71087038919. 3

71087038920. 4

Sub-Section Number : 2
Sub-Section Id : 710870252
Question Shuffling Allowed : Yes

Question Id : 7108709739 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions
:No

Question Numbers : (11 to 15)

Question Label : Comprehension



Read the passage carefully and answer questions that follow

Marketers are reexamining their relationships with social values and responsibilities and with
the wvery Earth that sustains us. As the worldwide consumerism and environmentalism
movement mature, today's marketers are being called on to develop sustainable marketing
practices. Corporate ethics and social responsibility have become hot topics for almost every
business. And few companies can ignore the renewed and very demanding environmental
movement. Every company action can affect customer relationships. Today's customers expect
companies to deliver value in a socially and environmentally responsible way.

The social-responsibility and environmental movements will place even stricter demands on
companies in the future. Some companies resist these movements, budging only when forced
by legislation or organized customer outcries. Forward-looking companies, however, readily
accept their responsibilities to the world around them. They view sustainable marketing as an
opportunity to do well by doing good. They seek ways to profit by serving immediate needs
and the best long-run interest of their customers and communities.

Some companies, such as Patagenia, Ben & Jerry's, Timberland, Method, and others, practice
caring capitalism, setting themselves apart by being civic-minded and responsible. They build
social linkages.

Sub questions

Question Number : 11 Question Id : 7108709740 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



The present-day marketers have focused on

1. Consumerism

2. Social obligations

3. Sustaining their business practices
4. Competitive business

Options :

71087038921. 1

71087038922. 2

71087038923. 3

71087038924. 4

Question Number : 12 Question Id : 7108709741 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

The concern for today's society centres on

1. Marketing strategies

2. Customer relations

3. Corporate ethics

4. Delivery of value for money
Options :

71087038925. 1

71087038926. 2

71087038927 3

71087038928. 4

Question Number : 13 Question Id : 7108709742 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



What do farsighted companies prefer?

1. Sustainable marketing

2. Legislative compulsion

3. Organised consumer pressure
4. Status quo in the market
Options :

71087038929. 1

71087038930. 2

71087038931. 3

71087038932. 4

Question Number : 14 Question Id : 7108709743 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

According to the passage, sustainable marketing is perceived as

1. Immediately profitable

2. Community fallacy

3. Doing good to community as an opportunity
4. Long-term burden to society as a difficult issue
Options :

71087038933. 1

71087038934. 2

71087038935. 3

71087038936. 4

Question Number : 15 Question Id : 7108709744 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Caring capitalism is inclusive of

A. Make profit by ignoring social demands

B. Being civic-minded

C. Forging social linkages

D. Budge when there is a legislative nudge

Choose the correct answer from the options given below:

1. A and B only
2. B and C only
3.Cand D only
4. A and D only
Options :
71087038937. 1
71087038938. 2
71087038939. 3
71087038940. 4

Question Id : 7108709739 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions
: No

Question Numbers : (11 to 15)

Question Label : Comprehension
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Sub questions

Question Number : 11 Question Id : 7108709740 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

71087038921. 1

71087038922. 2

71087038923, 3

71087038924, 4

Question Number : 12 Question Id : 7108709741 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

71087038925. 1
71087038926. 2
71087038927. 3
71087038928. 4

Question Number : 13 Question Id : 7108709742 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

71087038929. 1
71087038930. 2
71087038931. 3
71087038932, 4

Question Number : 14 Question Id : 7108709743 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

71087038933. 1

71087038934. 2

71087038935. 3

71087038936. 4

Question Number : 15 Question Id : 7108709744 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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2. HaAAB AR C
3. ®ad C 3R D
4. FAAA AR D
Options :
71087038937 1
71087038938. 2
71087038939. 3
71087038940. 4

Sub-Section Number : 3
Sub-Section Id : 710870253
Question Shuffling Allowed : Yes

Question Number : 16 Question Id : 7108709745 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



The concept ‘fraction of selection’ in classroom communication is determined by the
expectation of reward related to

1. Efforts needed

2. Reviews needed

3. Peer pressure needed
4. Time-lag needed
Options :

71087038941. 1
71087038942. 2
71087038943. 3
71087038944. 4

Question Number : 16 Question Id : 7108709745 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

HETg TUYO § * 999 & T DI SGURT BT FaR 9 O St ufawmd o Ul gr1 &
Gﬂ?ﬂ%:

1. AMIGD UAY

2. =GP FHI&M

3. HOWEH JHHE] GaIg
4, 924D GG
Options :

71087038941. 1
71087038942. 2
71087038943. 3
71087038944, 4

Question Number : 17 Question Id : 7108709746 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Efficacy of written communication depends upon

A. Lengthy presentation

B. Complex sentence structure

C. Editing after writing

D. Brevity in sentences

E. Use of strong words

F. Effective use of words

Choose the correct answer from the options given below:

1. A, B and C only
2.B, Cand D only
3.C, D and F only
4.D,Eand F only
Options :
71087038945. 1
71087038946. 2
71087038947. 3
71087038948. 4

Question Number : 17 Question Id : 7108709746 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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1. Bad A, B 3R C
2. Pad B, C 3R D
3. PHaAC, D 3R F
4, HAAD, EARF
Options :
71087038945. 1
71087038946. 2
71087038947. 3
71087038948. 4

Question Number : 18 Question Id : 7108709747 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Given below are two statements, one is labelled as Assertion A and the other is labelled as
Reason R

Assertion A: It is the responsibility of the teacher to make students active listeners with the
help of different interactive techniques

Reason R: In teacher-centric communication, students tend to become passive listeners
In light of the above statements, choose the correct answer from the options given below

1. Both A and R are true and R is the correct explanation of A

2. Both A and R are true but R is NOT the correct explanation of A
3. A is true but R is false

4. A is false but R is true

Options :

71087038949. 1

71087038950. 2

71087038951. 3

71087038952. 4

Question Number : 18 Question Id : 7108709747 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



-d &l &y fRU T B : ugel SifidyH (A) AR GUU dd (R) § -

HTHGYA (A) : T8 AUF B oFHGR] & [ g8 [T At de-id @ Geradl § faenfiaf
@I Gfehd a1 a1e

dd (R) : SEUD - dhigd SUYU faentdaf &i Fitnd sidr a1 g g
IWdd dBYHT & et H Fgifdd fddel d ¥ affie 3ugdd 3w 9 -
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3. (A) 9BI 8 U (R) el &l B

4. (A) Bl 61 8 U (R) 9Bl 5|

Options :

71087038949. 1

71087038950. 2

71087038951. 3

71087038952. 4

Question Number : 19 Question Id : 7108709748 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Match List | with List 11

List | List Il

Type of communication Characteristics

A. Intra-personal l. Between persons

B. Inter-personal Il. within a small organisation

C. Group lll. Large number of unknown audience
D. Mass IV. Within oneself

Choose the correct answer from the options given below:

TA-LBE-UI,C-1,D-1V
2ZA-ILB-N,C-1V,D-1
SA-ILB-IV,C-I,D-1
4AA-IVB-I,C-1,D-1
Options :

71087038953. 1
71087038954. 2
71087038955. 3
71087038956. 4

Question Number : 19 Question Id : 7108709748 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



i1 Dl Tall-1l Y AT Bife ;

gal-| gl-1l

U0 BT ThR fa=Ivan

A, 3 Jafdas |, Sfaadl & 99

B. 3R agfdad 1. 7Y T3 & |1

C. 998 11, ST Yidrei &1 921 g
D. SiF-HHeH V. %ad |

g f[aeul § § 9al ST &1 90 31 :

TA-LBE-UI,C-1,D-1V
2ZA-ILB-N,C-1V,D-1
SA-ILB-IV,C-I,D-1
4AA-IVB-I,C-1,D-1
Options :
71087038953. 1
71087038954. 2
71087038955. 3
71087038956. 4

Question Number : 20 Question Id : 7108709749 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Given below are two statements
Statement |: Personality conflicts in a classroom situation are a barrier to effective interaction

Statement |I: Impersonal communication is invariably considered the best solution in a
classroom environment

In light of the above statements, choose the correct answer from the options given below

1. Both Statement | and Statement Il are true

2. Both Statement | and Statement |l are false

3. Statement | is correct but Statement Il is false
4, Statement | is incorrect but Statement Il is true
Options :

71087038957. 1

71087038958. 2

71087038959. 3

71087038960. 4

Question Number : 20 Question Id : 7108709749 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

71087038957. 1

71087038958. 2

71087038959. 3

71087038960. 4

Question Number : 21 Question Id : 7108709750 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Given three numbers, first is twice the second and is half of the third. If the average of three
numbers is 56, then the difference of first and third number is

1. 12

2. 24

3. 36

4.48

Options :
71087038961. 1
71087038962. 2
71087038963. 3



71087038964. 4

Question Number : 21 Question Id : 7108709750 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
e 7 Teae € et ) uec T gudl O @ gl & oYl de e @i el 81 afg et
TEH13HT D1 3HTEd 56 B dl UGl 3R IRl H@A1 B 3R I -

1.12

2. 24

3.36

4. 48

Options :
71087038961. 1
71087038962. 2
71087038963. 3
71087038964. 4

Question Number : 22 Question Id : 7108709751 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Identify the next term in the series
2,10, 26, 50,

1. 78

294

3.82

4.104
Options :
71087038965. 1
71087038966. 2
71087038967. 3



71087038968. 4

Question Number : 22 Question Id : 7108709751 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

2,10, 26,50 ___ B 4@ H 3FTd 3Hep BT (e &1 -

1. 78

294

3.82

4.104
Options :
71087038965. 1
71087038966. 2
71087038967. 3
71087038968. 4

Question Number : 23 Question Id : 7108709752 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
A man in a train notices that he can count 31 telephone poles in one minute. If the poles are at
equal intervals of 50m, what is the speed of the train?

1. 50 km/hour
2. 60 km/hour
3. 80 km/hour
490 km/hour
Options :

71087038969. 1
71087038970. 2
71087038971. 3
71087038972. 4



Question Number : 23 Question Id : 7108709752 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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1. 50 Tt / Wfcder
2. 60 T A1, / Ufcden
3. 80 f A1, / ufeden
4, 90 T #1. ; ufada
Options :
71087038969. 1
71087038970. 2
71087038971 3
71087038972. 4

Question Number : 24 Question Id : 7108709753 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

A sum of Rs.50,000.00 is invested in a bank deposit for 1 year at an interest rate of 10% per
annum, compounded on a half-yearly basis. What is the amount of interest at the end of 1
year?

1. 5125

2. 5250

3. 5500
45150
Options :
71087038973. 1
71087038974. 2
71087038975. 3



71087038976. 4

Question Number : 24 Question Id : 7108709753 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

. 50,000/- B IHH dF H 1 A & 10T 10% UTday o &4s U 991 S 7741 | I8 =0T 44 giftia
YR R UR@Gd BidT & dl 1 91d & 3id H <O1e &1 IdH ol g 2

1. 5125

2. 5250

3. 5500
45150
Options :
71087038973. 1
71087038974. 2
71087038975. 3
71087038976. 4

Question Number : 25 Question Id : 7108709754 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

In the following letter series, what is the next term?

abcf, bedg, cdeh, defi, ___

1. efij

2. efgi

3. efgj

4. defj
Options :
71087038977. 1
71087038978. 2



71087038979. 3
71087038980. 4

Question Number : 25 Question Id : 7108709754 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
7751 31&R1 BT e # 2T U 1 BN
abcf, bedg, cdeh, defi, ___

1. efij

2. efgi

3. efgj

4. def]
Options :
71087038977. 1
71087038978. 2
71087038979. 3
71087038980. 4

Question Number : 26 Question Id : 7108709755 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



The sequential order of syllogism in Nyaya philosophy is
A. Nigman

B. Udaharana

C. Hetu

D. Upanaya

E. Pratigya

Choose the correct answer from the options given below

1.AECDB
2ZECBAD
3EBCDA
4.D,A B CE
Options :
71087038981. 1
71087038982. 2
71087038983. 3
71087038984. 4

Question Number : 26 Question Id : 7108709755 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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1.AECDB
2ZECBAD
3EBCDA
4.D,A B CE
Options :
71087038981. 1
71087038982. 2
71087038983. 3
71087038984. 4

Question Number : 27 Question Id : 7108709756 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



What is the sequential order of a comprehensible sentence in Nyaya philosophy
A. Akanksha

B. Yogyata

C. Tatparya

D. Sanniddhi

Choose the correct answer from the options given below

1.D,C B A
2. A B D,C
3.CD,B A
4.D,C A B
Options :
71087038985.
71087038986.
71087038987.
71087038988.

AW O~

Question Number : 27 Question Id : 7108709756 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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A, STDIET

B. ARG

C. ard

D. Gy

i U 7Y fgoeul # € U5l IR &1 989 DY

1.D,C B A
2. A B D,C
3.CD,B A
4.D,C A B
Options :
71087038985.
71087038986.
71087038987.
71087038988.

AW O~

Question Number : 28 Question Id : 7108709757 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

‘To infer rain in the past by perceiving muddy water in the pond’, is

1. PGrvovat anumana

2. Sesvatanuman

3. Both Parvovat anumana and Sesvatanuman
4. Comparison

Options :

71087038989. 1



71087038990. 2
71087038991. 3
71087038992. 4

Question Number : 28 Question Id : 7108709757 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
dIeiE o $idsygad Ul & Ud § SR 814 &1 Fwhy Ade- & -

1. 94 SFHH
2. R9ad HTHH
3.1 3R 2 gHf
4. il
Options :
71087038989. 1
71087038990. 2
71087038991. 3
71087038992. 4

Question Number : 29 Question Id : 7108709758 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

The fallacy (hetvabhasha) produced in the conclusion due to the repudiation of Sadhya by
Hetu is known as

1. Savyabhichara
2. Viruddha

3. Satpratipaksha
4. Asiddha
Options :
71087038993. 1



71087038994. 2
71087038995. 3
71087038996. 4

Question Number : 29 Question Id : 7108709758 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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1. JAHAR
2. faes
3. gaufdus
4, &g

Options :

71087038993. 1
71087038994. 2
71087038995. 3
71087038996. 4

Question Number : 30 Question Id : 7108709759 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Given below are four propositions. Two of them are related in such a way that they cannot be
true, although they can be false. Select the code that states those two propositions

A, All men are honest

B. No men are honest

C. Some men are honest

D. Some men are not honest

Choose the correct answer from the options given below:

1. A and B only
2. B and C only
3.Cand D only
4. A and D only
Options :
71087038997. 1
71087038998. 2
71087038999. 3
71087039000. 4

Question Number : 30 Question Id : 7108709759 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



-d or ufagfral & Wi 8, 39 9 ol U8 HEfid § & 3 9 T8l 81 9dd sIait d ad &l 9dd
&, 571 &l ufaafual & @ &1 98- ®e

A Tt FAfed SHMER §

. B3 Wi safekd SAMGR el gl

C. TS ofad SHFGR &

D. $% aAfdd SHMGR el aid

i f&u U faeedl # @ Uel I &1 98- B -

1. Had A 3R B
2. HaAAB AR C
3. ®ad C 3R D
4. FAAA AR D
Options :
71087038997 1
71087038998. 2
71087038999. 3
71087039000. 4

Sub-Section Number : 4
Sub-Section Id : 710870254
Question Shuffling Allowed : Yes

Question Id : 7108709760 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions
: No

Question Numbers : (31 to 35)

Question Label : Comprehension



Consider the data in the given table and answer the questions that follow

The following table is on the Expenditures of Institution (in lakh Rupees) per annum over the

given years
Heads of Expenditure (in lakhs)
Salary  of Interest  on
Year TransportBonuses Taxes
Staff Loan
2015 285 98 3 23.4 83
2076 347 112 2.52 32.5 108
2017 324 101 3.84 41.6 74
2018 336 133 3.68 36.4 88
2019 420 14 3.96 494 93

Sub questions

Question Number : 31 Question Id : 7108709761 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

What is the average amount of interest per year that the institution had to pay?

1. 30.50
2. 36.66
3. 39.66
4.41.02
Options :
71087039001. 1
71087039002. 2
71087039003. 3
71087039004. 4



Question Number : 32 Question Id : 7108709762 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
The total amount of bonus paid by the institution during the given period is approximately
what percent of the total amount of salary paid during this period?

1. -3 %
2. -4 %
3. -7 %
4, -1%
Options :
71087039005. 1
71087039006. 2
71087039007. 3
71087039008. 4

Question Number : 33 Question Id : 7108709763 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Total expenditure on all these items in 2015 was approximately what per cent of the total
expenditure in 20197

1. 84.63 %
2.58 %
3.91%

4.73 %
Options :
71087039009. 1
71087039010. 2
71087039011. 3
71087039012. 4



Question Number : 34 Question Id : 7108709764 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

The total expenditure of the institution on these items during the year 2017 is

1. 624.6

2. 524.44

3. 544.44

4. 591.41
Options :
71087039013. 1
71087039014. 2
71087039015. 3
71087039016. 4

Question Number : 35 Question Id : 7108709765 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

The ratio between the expenditure on taxes for the years 2016 and 2018, is approximately

1. 17:11
2.27:22
3.31:27

4, 19:17
Options :
71087039017 1
71087039018. 2
71087039019. 3
71087039020. 4

Question Id : 7108709760 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions
: No



Question Numbers : (31 to 35)
Question Label : Comprehension

= 3t 7S IR FT sEEET By iR fSA T aul & Tw & at (@ Ul 7) &7 uiaad
FHURRUN IS :

o0 o Y (@rat 1)
aﬁ 0 .
HHAMG BT | gfaed a9 U R Y G
dod
2015 288 = ta] 3.00 23.4 83
2016 342 112 2.52 325 108
2017 324 101 3.84 41.6 74
2018 336 133 3.68 364 88
2019 420 14 3.96 49.4 98

Sub questions

Question Number : 31 Question Id : 7108709761 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



T=yT &l ufaay ofied fad=1 =T gl USdl 6 ?

1. 30.50
2. 36.66
3. 39.66
4.41.02
Options :
71087039001. 1
71087039002. 2
71087039003. 3
71087039004. 4

Question Number : 32 Question Id : 7108709762 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Sfearad afd o T 5 9199 31 S o U3 YeH 31 ¢ 98 94 3@y ¥ Ued &d dad &1 A
BT ATHIT [T UfRd 8 2

1. -3 %
2 -4 %
3. -7 %
4. -1%
Options :
71087039005. 1
71087039006. 2
71087039007. 3
71087039008. 4

Question Number : 33 Question Id : 7108709763 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



2015 H 3 9 Hal UR 001 41 §dd o6 2019 & ol Adl &I TTH fdha-1 Hiard o ?

1. 84.63%

2. 58%

3.91%

4. 73%
Options :
71087039009. 1
71087039010. 2
71087039011. 3
71087039012. 4

Question Number : 34 Question Id : 7108709764 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
2017 AT B HAAGH FA T © -

1. 624.6
2.524.44

3. 544.44

4. 591.41
Options :
71087039013. 1
71087039014. 2
71087039015. 3
71087039016. 4

Question Number : 35 Question Id : 7108709765 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



ay 2016 2R 2018 H @I & ¥U H {68 T 44l & o BT UId T+ fdhaHT © 2

1. 17:11
2.27:22
3.31:27

4. 19:17
Options :
71087039017. 1
71087039018. 2
71087039019. 3
71087039020. 4

Sub-Section Number : 5
Sub-Section Id : 710870255
Question Shuffling Allowed : Yes

Question Number : 36 Question Id : 7108709766 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

What is the full form of the abbreviation loT?

1. International Office of Tourism

2. Internet of Things

3. Internet of Think

4, Instrument of Telecommunication
Options :

71087039021. 1

71087039022. 2

71087039023. 3

71087039024. 4

Question Number : 36 Question Id : 7108709766 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical



Correct Marks : 2 Wrong Marks : 0
loT Tt &1 gul Y (b BiH) |18 ?

1. TSI HIhY 3B R
2. 3ee HIp g

3. 32 HHE U@

4. 3EEHe AP CHlnHIGTH
Options :

71087039021. 1

71087039022. 2

71087039023. 3

71087039024. 4

Question Number : 37 Question Id : 7108709767 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Which type of memory holds the computer startup routine?

1. RAM

2. WAN

3. ROM

4. Cache
Options :
71087039025. 1
71087039026. 2
71087039027. 3
71087039028. 4

Question Number : 37 Question Id : 7108709767 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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1. AR TUH

2. S=Y U T
3. 3R I TH
4. B
Options :
71087039025. 1
71087039026. 2
71087039027. 3
71087039028. 4

Question Number : 38 Question Id : 7108709768 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Given below are two statements, one is labelled as Assertion A and the other is labelled as
Reason R

Assertion A: Total number of mobile users in India is increasing rapidly

Reason R: The cost of the mobile is decreasing

In light of the above statements, choose the most appropriate answer from the options
given below

1. Both A and R are correct and R is the correct explanation of A

2. Both A and R are correct but R is NOT the correct explanation of A
3. A is correct but R is not correct

4. A is not correct but R is correct



Options :

71087039029. 1
71087039030. 2
71087039031. 3
71087039032. 4

Question Number : 38 Question Id : 7108709768 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

-d &l &y fRU T B : ugel SifidyH (A) AR GUU dd (R) § -
HUBHU (A) : HRA & A5 TaRTHdlsi &1 el duil I 96 6l ol
d® (R) : AESd 1 $IFd $H 8l 51 o

IWdd HYHT & et H Fgifdd fddel d I affie 3ugdd 3w 9 -
1. (A) AR (R) THT FET § 3R (R), (A) BT TE ARG

2. (A) aﬁ?gﬁ)aﬁfﬁ%&ﬁ?(m, (A) BT eI SRS T8l o

3. cﬁjlﬂl‘a"r'ﬁtm[ﬁ}wél

4. (A) TTEd 8 TR (R) Tel B

Options :

71087039029. 1

71087039030. 2

71087039031. 3
71087039032. 4

Question Number : 39 Question Id : 7108709769 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



The file extension of Microsoft (MS) Word document in office 2007 is

1. .docx

2. .png

3. .doc

4..jpg
Options :
71087039033. 1
71087039034. 2
71087039035. 3
71087039036. 4

Question Number : 39 Question Id : 7108709769 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

31tpY 2007 H HIFHIHIE (THUH) TS SIFgHT B BI5d [GER © -

1. .docx

2. .png

3. .doc

4..jpg
Options :
71087039033. 1
71087039034. 2
71087039035. 3
71087039036. 4

Question Number : 40 Question Id : 7108709770 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



What is the binary number for decimal number 97

1. 1100

2. 1001
3.0111

4. 1011
Options :
71087039037. 1
71087039038. 2
71087039039. 3
71087039040. 4

Question Number : 40 Question Id : 7108709770 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
ST G019 B feeR U 1 & 7

1. 1100

2. 1001
30111
41011
Options :
71087039037. 1
71087039038. 2
71087039039. 3
71087039040. 4

Question Number : 41 Question Id : 7108709771 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



The phenomenon of ozone depletion is caused by

A. Volatile chlorinated hydrocarbons

B. Emissions from thermal power plants

C. Combustion of urban waste

D. Excessive use of nitrogen-containing fertilizers

Choose the correct answer from the options given below:

1. A, B and D only
2. A and D only

3. A, Band Conly
4. A, Cand D only
Options :
71087039041. 1
71087039042. 2
71087039043. 3
71087039044. 4

Question Number : 41 Question Id : 7108709771 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



HISH URd & &R0 & HRU & -
A, IRl RIRHES giEgidle-

B. YH T UTa iel § Joe

C. 38 d%¢ @I G
D. AT oA HIAF e Bl SATEd UG
=< fGu e foTcal # € U8l SR &1 99 @9 ;

1. Had A, B3R D
2. ®ad A AR D
3. @A A, B AR C
4. HAAA, C3RD
Options :
71087039041 1
71087039042. 2
71087039043, 3
71087039044. 4

Question Number : 42 Question Id : 7108709772 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Which of the following was NOT an issue to be addressed under Millenium Development
Goals?

1. Child mortality

2. Environmental sustainability
3. Human rights

4. Primary education

Options :



71087039045. 1
71087039046. 2
71087039047. 3
71087039048. 4

Question Number : 42 Question Id : 7108709772 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Fafeiaad 3 9 U o1 91 981 e & forad Geuife: Ay aedl & ded SH1YH fardl o T 2

1. RR[ e
2. JgiaRuig SH=gar

3. OHg HfUHR
4, UTYiHe T2ra

Options :

71087039045. 1
71087039046. 2
71087039047. 3
71087039048. 4

Question Number : 43 Question Id : 7108709773 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Identify the correct sequence of countries in decreasing order of their contributions to per
capita emissions of carbon dioxide emissions at present

A. India

B. China

C. USA

D. Japan

Choose the correct answer from the options given below

1.C,D, B A
2B CAD
3.D,B,C A
4.C, B, D A
Options :
71087039049. 1
71087039050. 2
71087039051. 3
71087039052. 4

Question Number : 43 Question Id : 7108709773 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



FAHH H BTE- SIS3Ha58 Iovi & Ufdadiad ool H GTGH o dld G2 & JHaig HH I
‘\q—fﬂmﬁ usalaﬁ:

A. HIRd

B. A

C. §gad Y 3R

D. SITUH

4 [9@eul § 9 981 IR @1 984 B ;

1.C,D, B A
2B CAD
3.D,B,C A
4.C, B, D A
Options :
71087039049. 1
71087039050. 2
71087039051. 3
71087039052. 4

Question Number : 44 Question Id : 7108709774 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Given below are two statements, one is labelled as Assertion A and the other is labelled as
Reason R

Assertion A: In the contemporary environmental discourse, small hydropower plants are
prefered over large hydropower plants

Reason R: Installation of a small hydropower plant is less capital intensive compared to a large
hydropower plant

In light of the above statements, choose the most appropriate answer from the options
given below

1. Both A and R are correct and R is the correct explanation of A

2. Both A and R are correct but R is NOT the correct explanation of A
3. A is correct but R is not correct

4. A is not correct but R is correct

Options :

71087039053. 1

71087039054. 2

71087039055. 3

71087039056. 4

Question Number : 44 Question Id : 7108709774 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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MR

dd (R) : 93 BISSIUIGR Wil &I qo-l § T SI3SIulaR Wicl &I |1 § & Yol o idi & |
IWdd dBYHT & et H Fgifdd fddel d ¥ affie 3ugdd 3w 9 -

1. (A) 3R (R) THT T8l & 3R (R), (A) P! ol AR 5|

2. (A) ¥R (R) GHI T8I B &R (R), (A) DI Tl SREAT 6l 3|
3. (A) 981 & TR (R) ¥ol T &

4. (A) Bl 61 8 U (R) 9Bl 5|

Options :

71087039053. 1

71087039054. 2

71087039055. 3

71087039056. 4

Question Number : 45 Question Id : 7108709775 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Day time noise standard prescribed for residential areas in India is

1. 75 dB
2.65dB
3.55dB
4.50dB
Options :
71087039057. 1
71087039058. 2
71087039059. 3
71087039060. 4



Question Number : 45 Question Id : 7108709775 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

URd H fardig &Ff & e g § g R s oM@ & -

1. 75 dB
2.65dB
3.55dB
4.50dB
Options :
71087039057. 1
71087039058. 2
71087039059. 3
71087039060. 4

Question Number : 46 Question Id : 7108709776 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Takshashila, an ancient centre for higher learning in India, was declared as a heritage site by
the UNESCO in

1. 1980
2.1982

3. 1984

4. 1986
Options :
71087039061. 1
71087039062. 2
71087039063. 3
71087039064. 4



Question Number : 46 Question Id : 7108709776 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

YRd H I SR & W ds & T H T8I @1 G401 gRI fhd I8 H eRIgy ¥ & $U H
Hifyd favar mar 2

1. 1980

2. 1982
3.1984

4. 1986
Options :
71087039061. 1
71087039062. 2
71087039063. 3
71087039064. 4

Question Number : 47 Question Id : 7108709777 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Rashtriya Uchchatar Shiksha Abhiyan (RUSA), a Centrally Sponsored Scheme aiming at
providing strategic funding to eligible state higher educational institutions, was launched in

1. 2010

2. 2011
3.2012

4, 2013
Options :
71087039065. 1
71087039066. 2
71087039067. 3
71087039068. 4



Question Number : 47 Question Id : 7108709777 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

APTY IR TR A (3R Y TH Q) S U iy Wifod ioHT & 3R forder 3§30 U sy
FeaeR A&t YR h! YR fad GIe0 Y Sl &, BT YHRY B fbdn 7197 o1 7

1. 2010

2. 2011
3.2012

4, 2013
Options :
71087039065. 1
71087039066. 2
71087039067. 3
71087039068. 4

Question Number : 48 Question Id : 7108709778 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Gross Enrolment Ratio (GER) in higher education is the total enrolment in higher education,
regardless of age expressed as a percentage to the eligible official population in a given
school year. Which of the following age groups explain the eligible official population in this
regard?

1. 16-21 years
2. 17-22 years
3. 18-23 years
4. 19-24 years
Options :

71087039069. 1
71087039070. 2



71087039071. 3
71087039072. 4

Question Number : 48 Question Id : 7108709778 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

JR & H I AMie- UM (GisHR) Iwda [RI&TH $d 39 FRUs THi$ Ued Tod a4
o U HYSRS o9 G & Uiad & &4 H Hfiedad gidl £ 1 39 Jay ¥ [Rufiad § 4 oH-
1 31 Y98 UH ATEh1RE S &I Gidl & ?

1.16-21 a4
2.17-2234
3.18-2394
4.19-24 7Y
Options :
71087039069. 1
71087039070. 2
71087039071. 3
71087039072. 4

Question Number : 49 Question Id : 7108709779 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Which of the following statements best describe value education?

A. It is a course in moral science

B. It talks about rewards and punishments for one's own actions

C. Students observe and imitate adult behaviours, particularly that of their parents
D. Students investigate and explore their own inner self

E. It encourages students to fix their place in their life

Choose the correct answer from the options given below:

1. A, B and C only
2. B, Cand D only
3.C, D and E only
4. A, Dand E only
Options :
71087039073. 1
71087039074. 2
71087039075. 3
71087039076. 4

Question Number : 49 Question Id : 7108709779 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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1. HAAA, B 3R C
2. @A B, C3RD
3. ®aAC, D 3R E
4. HAAA, D ARE
Options :
71087039073. 1
71087039074. 2
71087039075. 3
71087039076. 4

Question Number : 50 Question Id : 7108709780 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Match List | with List 11

List |

List 1l

ICT Human

Resource Development

Initiatives of Ministry of

Their benefits for students and researchers

A, SWAYAM

. To get hands-on experience in embedded
system

B. SWAYAMPRABHA

Il. To get free books and curriculum-based e-
content

C. e-PG Pathshala

. To watch high-quality educational
programmes 24x7

0. e-Yantra

IV. To earn credits through online courses

Choose the correct answer from the options given below:

TA-ILB-IV,C-1,D-I
2ZA-IVB-NIL,C-I,D-1
SA-ILB-1L,C-1V,D-1I
4A-LB-ILC-1ILD-1V
Options :

71087039077. 1
71087039078. 2
71087039079. 3
71087039080. 4

Question Number : 50 Question Id : 7108709780 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is

Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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TA-NLB-IV,C-1,D-1
2ZA-IV,B-NILC-1,D-1I
3A-ILB-1L,C-1V,D-1I
4 A-1L,B-II,LC-1I,D-1V
Options :

71087039077. 1
71087039078. 2
71087039079. 3
71087039080. 4

PART II Forensic Science

Section Id : 710870240
Section Number : 2

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 92

Number of Questions to be attempted : 92



Section Marks : 200

Display Number Panel : Yes
Group All Questions : Yes

Mark As Answered Required? : Yes
Sub-Section Number : 1
Sub-Section Id : 710870256
Question Shuffling Allowed : Yes

Question Number : 51 Question Id : 7108709781 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

The study of ethical dilemmas, choices and standards of application in a particular context,
including occupations, professions and situations come under

1. Proactive ethics
2. Normative ethics
3. Metaethics

4. Applied ethics
Options :
71087039081. 1
71087039082. 2
71087039083. 3
71087039084. 4

Question Number : 51 Question Id : 7108709781 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



AU U gied 92y gaH # R Hifd deddi glawmnsi, [deeal sk aH®l & Suan @
e FefafEad & o omar 8 -

1. ATAEHT ARl
2. AH® HER Hifd

3. HiY SR Hifd

4, {gad AR ifd
Options :
71087039081. 1
71087039082. 2
71087039083. 3
71087039084, 4

Question Number : 52 Question Id : 7108709782 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Prof. Simon Newcomb has given the

1. Law of Mutual Exchange
2. Law of Individuality

3. Law of Compariscn

4. Law of Probability
Options :

71087039085. 1
71087039086. 2
71087039087. 3
71087039088. 4

Question Number : 52 Question Id : 7108709782 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



TiheR G3a- gone - Fafiiad Rigid ufufed fears

1. AU H1eH-UeH &1 fbgid
2. JOfaadmdr @1 gid

3. o1 BT gl

4, GYTogdl &1 [ gid
Options :

71087039085. 1

71087039086. 2

71087039087. 3

71087039088. 4

Question Number : 53 Question Id : 7108709783 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Which of the following is NOT a limitation of Beer Lambert's Law, which gives the relation
between absorption, thickness and concentration on

1. Concentration must be lower

2. Radiation must have higher bandwidth

3. Radiation source must be monochromatic

4, Does not consider factors other than thickness and concentration
Options :

71087039089. 1

71087039090. 2

71087039091. 3

71087039092. 4

Question Number : 53 Question Id : 7108709783 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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3. fafdevur &1 9id Siaxg® ©U ¥ UdHaull gH1 91t

4. 9ieTs a4l Ir5dl & Afaad 30 OR®| 91 [d9R Taf dedl
Options :

71087039089. 1

71087039090. 2

71087039091 3

71087039092. 4

Question Number : 54 Question Id : 7108709784 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Which of the following is the major metabolite of methyl alcohel on oral administration?

1. Propicnic acid
2. Acetic acid

3. Formic acid

4, Valeric acid
Options :
71087039093. 1
71087039094. 2
71087039095. 3
71087039096. 4

Question Number : 54 Question Id : 7108709784 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



fBySd Temied UH W Hafifad oH-41 5d Herdidne sHdl 6 :

1. gt s
2. UfEfe® ok

3. Biffd 3

4. 9l 3w
Options :
71087039093. 1
71087039094. 2
71087039095. 3
71087039096. 4

Question Number : 55 Question Id : 7108709785 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

The diameter of the circle tangent to the tops of the lands if the barrel has an odd number of
lands & grooves, is known as:

1. Bore number
2. Choke

3. Caliber

4, Quarter choke
Options :
71087039097. 1
71087039098. 2
71087039099. 3
71087039100. 4

Question Number : 55 Question Id : 7108709785 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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1. =il e

2. YD

3. A

4. dYyTs AYH
Options :
71087039097. 1
71087039098. 2
71087039099. 3
71087039100. 4

Question Number : 56 Question Id : 7108709786 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

An explosion during a fire due to the mixing of fresh air in a compartment having inflammable,
volatile pyrolysis products & low oxygen, is known as

1. Flashback
2. Flameover
3. Rollover

4. Dropdown
Options :
71087039101. 1
71087039102. 2
71087039103. 3
71087039104. 4

Question Number : 56 Question Id : 7108709786 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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1. [4-2%Y (WiLsdh)
2. TRiHIR

3. TeTa]

4. SIUSLhA
Options :
71087039101. 1
71087039102. 2
71087039103. 3
71087039104. 4

Question Number : 57 Question Id : 7108709787 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

The hard outer layer of a pollen grain is made up of

1. Sporopollenin
2. Chitin

3. Silica

4. Pectin
Options :
71087039105. 1
71087039106. 2
71087039107. 3
71087039108. 4

Question Number : 57 Question Id : 7108709787 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



TRAT U B HoR ded] IRd 394§ eldl & -

1. TIRGIAA
2. BIgie

3. Tfgar

4. Ofdeq
Options :
71087039105. 1
71087039106. 2
71087039107. 3
71087039108. 4

Question Number : 58 Question Id : 7108709788 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
A polygraph test is used for the detection of

1. Psychosomatic changes of body
2. Pharmacological effects on body
3. Orthopedic changes of body

4. Radiological effects on body
Options :

71087039109. 1

71087039110. 2

71087039111. 3

71087039112. 4

Question Number : 58 Question Id : 7108709788 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

71087039109. 1
71087039110. 2
71087039111. 3
71087039112 4

Question Number : 59 Question Id : 7108709789 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

The use of indanedione to develop latent fingermarks involves its reaction with which one of
the following components of sweat residues?

1. Urea

2. Amino acid
3. Triglycerides
4. Squalene
Options :
71087039113. 1
71087039114. 2
71087039115. 3
71087039116. 4

Question Number : 59 Question Id : 7108709789 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :
71087039113. 1
71087039114. 2
71087039115. 3
71087039116. 4

Question Number : 60 Question Id : 7108709790 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

In proportional spacing typewriters, each character occupies which type of the following space

1. 1 unit of 1/10t" of an inch

2. 2 - 5 units of 17321 of an inch

3. 3 units of 1/12%¥ of an inch

4, 2 units of 1/32™ or 1/36" of an inch
Options :

71087039117. 1

71087039118. 2

71087039119. 3

71087039120. 4

Question Number : 60 Question Id : 7108709790 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

71087039117. 1

71087039118. 2

71087039119. 3

71087039120. 4

Question Number : 61 Question Id : 7108709791 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Which one of the following statements is true about the migration of biomolecules in
electrophoresis?

1. The rate of migration is directly proportional to the resistance of the medium
2. Rate of migration is directly proportional to the current

3. Low voltage is used for separation of high mass molecules

4. Rate of migration is inversely proportional to the current

Options :

71087039121. 1

71087039122. 2

71087039123. 3

71087039124. 4

Question Number : 61 Question Id : 7108709791 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

71087039121. 1

71087039122. 2

71087039123. 3
71087039124. 4

Question Number : 62 Question Id : 7108709792 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Which of the following is the major metabolic of cocaine in blood and urine?

1. Ecgonine

2. Cocaethylene

3. Benzoyl ecgonine

4. Ecgonine methyl ester
Options :

71087039125. 1
71087039126. 2
71087039127. 3
71087039128. 4

Question Number : 62 Question Id : 7108709792 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

71087039125. 1
71087039126. 2
71087039127. 3
71087039128. 4

Question Number : 63 Question Id : 7108709793 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

A detailed written description of gunpowder is given in which one of the following by Roger
Bacon?

1. Mayflower Compact

2. Opus Majus

3. Magna Carta

4. The Declaration of Independence Date
Options :

71087039129. 1

71087039130. 2

71087039131. 3

71087039132. 4

Question Number : 63 Question Id : 7108709793 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

71087039129. 1

71087039130. 2

71087039131. 3

71087039132. 4

Question Number : 64 Question Id : 7108709794 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

The gelling agents added to explosive mixtures to improve their resistance to moisture and
increase viscosity are known as

1. Alginates

2. Alex

3. Akardite

4, Centralites
Options :
71087039133. 1
71087039134. 2
71087039135. 3
71087039136. 4

Question Number : 64 Question Id : 7108709794 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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1. Toli-ey

2. T
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Options :
71087039133 1
71087039134. 2
71087039135. 3
71087039136. 4

Question Number : 65 Question Id : 7108709795 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

How many phases are present in "Enhanced Integrated Digital Investigation Process” model
invented by Baryamureeba and Tushabe in 20047

1. 15

2. 21

3.39

4.47

Options :
71087039137. 1
71087039138. 2
71087039139. 3
71087039140. 4

Question Number : 65 Question Id : 7108709795 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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1. 15

2. 21

3.39

4.47

Options :
71087039137. 1
71087039138. 2
71087039139. 3
71087039140. 4

Question Number : 66 Question Id : 7108709796 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

In which year was Automated Fingerprint Identification Systems (AFIS) developed?

1. 1985

2. 1984

3. 1986

4. 1990
Options :
71087039141. 1
71087039142. 2
71087039143. 3
71087039144. 4

Question Number : 66 Question Id : 7108709796 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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1. 1985

2. 1984

3. 1986

4. 1990
Options :
71087039141. 1
71087039142. 2
71087039143. 3
71087039144. 4

Question Number : 67 Question Id : 7108709797 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Which of the following is the most appropriate sample to be preserved during an autopsy in
case of poisoning by digitalis purpurea?

1. Spleen

2. Uterus

3. Spinal cord
4, Heart
Options :
71087039145. 1
71087039146. 2
71087039147. 3
71087039148. 4

Question Number : 67 Question Id : 7108709797 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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4. gad
Options :
71087039145. 1
71087039146. 2
71087039147. 3
71087039148. 4

Question Number : 68 Question Id : 7108709798 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

The principle of radio-immunoassay is based on the interaction of

1. Unlabelled antigen with a fixed amount of corresponding labelled antigen and antibody
2. Labelled antigen with a variable amount of antibody

3. Unlabelled antigen with a fixed amount of antibody

4. Variable amount of both labelled antigen and antibody

Options :

71087039149. 1

71087039150. 2

71087039151. 3

71087039152. 4

Question Number : 68 Question Id : 7108709798 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

71087039149. 1

71087039150. 2

71087039151, 3

71087039152. 4

Question Number : 69 Question Id : 7108709799 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Wild Life Protection Act, 1972 was amended in which year?

1. 1999

2. 2000

3. 2002

4. 2012
Options :
71087039153. 1
71087039154. 2
71087039155. 3
71087039156. 4

Question Number : 69 Question Id : 7108709799 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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1. 1999

2. 2000

3. 2002

4. 2012
Options :
71087039153. 1
71087039154. 2
71087039155. 3
71087039156. 4

Question Number : 70 Question Id : 7108709800 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Which of the following toxic salts of lead is known as "Sugar of Lead" ?

1. Lead diacetate
2. Lead monoxide
3. Lead tetroxide
4, Lead carbonate
Options :
71087039157. 1
71087039158. 2
71087039159. 3
71087039160. 4

Question Number : 70 Question Id : 7108709800 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :
71087039157. 1
71087039158. 2
71087039159. 3
71087039160. 4

Question Number : 71 Question Id : 7108709801 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

The bullets having less thickness of the jacket at the tip are:

1. Dum-dum Bullet

2. Hollow-point Bullet
3. Tracer Bullets

4. Explosive Bullets
Options :
71087039161. 1
71087039162. 2
71087039163. 3
71087039164. 4

Question Number : 71 Question Id : 7108709801 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :
71087039161. 1
71087039162. 2
71087039163. 3
71087039164. 4

Question Number : 72 Question Id : 7108709802 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Which of the following solvents has the highest boiling point?

1. n-pentane
2. n-hexane

3. n-heptane
4. Xylene
Options :
71087039165. 1
71087039166. 2
71087039167. 3
71087039168. 4

Question Number : 72 Question Id : 7108709802 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

71087039165. 1
71087039166. 2
71087039167. 3
71087039168. 4

Question Number : 73 Question Id : 7108709803 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

The famous computer program which provides cryptographic privacy and authentication for
data communication, based on public-key encryption algorithm is

1. PGP

2. TGEP

3. GPP

4. CGE
Options :
71087039169. 1
71087039170. 2
71087039171. 3
71087039172. 4

Question Number : 73 Question Id : 7108709803 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :
71087039169. 1
71087039170. 2
71087039171. 3
71087039172. 4

Question Number : 74 Question Id : 7108709804 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

The computerized pad which recognizes the signature based on the speed, pressure and
rhythm of signing is called

1. Biometric access device

2. Handwriting identification pad
3. Signature scanning device

4. Biometric signature pad
Options :

71087039173. 1

71087039174. 2

71087039175. 3

71087039176. 4

Question Number : 74 Question Id : 7108709804 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :
71087039173, 1
71087039174 2
71087039175. 3
71087039176 4

Question Number : 75 Question Id : 7108709805 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Inks with polyethylene glycol base began replacing the oil-based ink in ball-point pens in the
year:

1. 1940s

2. 1952

3. 1960s

4. 1972
Options :
71087039177. 1
71087039178. 2
71087039179. 3
71087039180. 4

Question Number : 75 Question Id : 7108709805 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical



Correct Marks : 2 Wrong Marks : 0
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Options :
71087039177. 1
71087039178. 2
71087039179. 3
71087039180. 4

Question Number : 76 Question Id : 7108709806 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Eating the flesh of corpse for sexual gratification is called

1. Necrophagia
2. Masochism
3. Transvestism
4. Necrophilia
Options :
71087039181. 1
71087039182. 2
71087039183. 3
71087039184. 4

Question Number : 76 Question Id : 7108709806 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



4 IR & for =1d @1 Ji9 @ & fae fafafed 9 @ o @ uiuifier g 2

1. ATHETT

2. WUls Id
3. faferzrazr Afa
4, 99 3d
Options :
71087039181. 1
71087039182. 2
71087039183. 3
71087039184. 4

Question Number : 77 Question Id : 7108709807 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Which one of the following statements is NOT true about mass spectrometry?

1. Impurities of masses different from the one being analysed interfere with the result
2. It has great sensitivity

3. It is suitable for data storage

4. It is suitable for library retrieval

Options :

71087039185. 1

71087039186. 2

71087039187. 3

71087039188. 4

Question Number : 77 Question Id : 7108709807 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

71087039185. 1

71087039186. 2

71087039187. 3

71087039188, 4

Question Number : 78 Question Id : 7108709808 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
The most impoertant human activity, leading to the extinction of wildlife is

1. Pollution of wildlife

2. Hunting for valuable wildlife products

3. Introduction of alien species

4. Alteration and destruction of natural habitat
Options :

71087039189. 1

71087039190. 2

71087039191. 3

71087039192. 4

Question Number : 78 Question Id : 7108709808 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

71087039189. 1

71087039190. 2

71087039191. 3

71087039192. 4

Question Number : 79 Question Id : 7108709809 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Which one of the following is a sweet prepared from Bhang and used as an appetizer?

1. Gardaa

2. Sinsemilla
3. Majoon

4, Shardai
Options :
71087039193. 1
71087039194. 2
71087039195. 3
71087039196. 4

Question Number : 79 Question Id : 7108709809 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :
71087039193. 1
71087039194. 2
71087039195. 3
71087039196. 4

Question Number : 80 Question Id : 7108709810 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
An Android device's encrypted data can be wiped remotely using

1. Find my phone service
2. Google Sync

3. iCloud

4. Search My Sync
Options :

71087039197. 1
71087039198. 2
71087039199. 3
71087039200. 4

Question Number : 80 Question Id : 7108709810 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

71087039197. 1
71087039198. 2
71087039199. 3
71087039200. 4

Question Number : 81 Question Id : 7108709811 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Which one of the following types of ink, if erased, can be restored with the sulfocyanic acid
fuming method?

1. Printing inks
2. Iron base inks
3. Inkjet inks

4. Ball-pen inks
Options :
71087039201. 1
71087039202. 2
71087039203. 3
71087039204. 4

Question Number : 81 Question Id : 7108709811 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :
71087039201. 1
71087039202 2
71087039203 3
71087039204, 4

Question Number : 82 Question Id : 7108709812 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

The system for measurement of ion intensity in the GC-MS system consists of which one of the
following?

1. Band pass amplifier

2. Narrow band amplifier
3. Wide band amplifier
4. Low pass amplifier
Options :

71087039205. 1
71087039206. 2
71087039207. 3
71087039208. 4

Question Number : 82 Question Id : 7108709812 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

71087039205. 1

71087039206 2

71087039207. 3

71087039208. 4

Question Number : 83 Question Id : 7108709813 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Who of the following is appointed as the Chairperson of National Board for Wild Life?

1. Secretary to the Govt. of India, Incharge of Ministry or Department of the Central
Government dealing with Forest and Wild Life

2. The Prime Minister of India

3. Environment Minister, Ministry of Environment and Forest, Government of India

4, The President of India

Options :

71087039209. 1

71087039210. 2

71087039211. 3

71087039212. 4

Question Number : 83 Question Id : 7108709813 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

71087039209. 1

71087039210. 2

71087039211. 3

71087039212. 4

Question Number : 84 Question Id : 7108709814 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Toxicity by organophosphates involves the major inhibition of which one of the following
enzymes?

1. Pyruvate dehydrogenase
2. Lipoprotein lipase

3. Ferrochelatase

4. Acetyl cholinesterase
Options :

71087039213. 1
71087039214. 2
71087039215. 3
71087039216. 4

Question Number : 84 Question Id : 7108709814 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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2. foaImiE arus

3. Tlddrey

4. TS d DI
Options :

71087039213. 1
71087039214. 2
71087039215. 3
71087039216. 4

Question Number : 85 Question Id : 7108709815 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

In a solid sample preparation technique in IR spectroscopy, the finely ground solid sample is
mixed with mineral oil to make a thick paste which is then spread between IR transparent
windows. What is the name of this solid sample preparation technique?

1. Pressed pellet

2. Mull technique

3. Solid films

4. Solid run in solutions
Options :

71087039217. 1
71087039218. 2
71087039219. 3
71087039220. 4

Question Number : 85 Question Id : 7108709815 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

71087039217. 1

71087039218. 2

71087039219. 3

71087039220. 4

Question Number : 86 Question Id : 7108709816 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Which one of the following cannot be conserved during Raman Scattering ?

1. Total Energy

2. Momentum

3. Kinetic Energy

4. Electronic Energy
Options :
71087039221. 1
71087039222. 2
71087039223. 3
71087039224. 4

Question Number : 86 Question Id : 7108709816 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical



Correct Marks : 2 Wrong Marks : 0
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Options :
71087039221. 1
71087039222. 2
71087039223. 3
71087039224. 4

Question Number : 87 Question Id : 7108709817 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

X-ray diffraction patterns are used for studying crystal structure of solids because

1. They have very high energy, hence they can penetrate through solids

2. They are electromagnetic radiations and hence do not interact with crystals
3. Their wavelengths are comparable to inter-atomic distances

4. Their high frequency enables rapid analysis

Options :

71087039225. 1

71087039226. 2

71087039227. 3

71087039228. 4

Question Number : 87 Question Id : 7108709817 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

71087039225. 1

71087039226. 2

71087039227. 3

71087039228. 4

Question Number : 88 Question Id : 7108709818 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

In which one of the following types of liquid chromatography, immobilized biochemical is
used as a stationary phase?

1. lon exchange chromatography
2. Exclusion chromatography

3. Affinity chromatography

4. Gel permeation chromatography
Options :

71087039229. 1

71087039230. 2

71087039231. 3

71087039232. 4

Question Number : 88 Question Id : 7108709818 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

71087039229. 1
71087039230. 2
71087039231. 3
71087039232. 4

Question Number : 89 Question Id : 7108709819 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Which one of the following body hair types are triangular in cross-section?

1. Eyebrows

2. Beard hair
3. Pubic hair
4. Axillary hair
Options :
71087039233. 1
71087039234. 2
71087039235. 3
71087039236. 4

Question Number : 89 Question Id : 7108709819 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :
71087039233 1
71087039234. 2
71087039235, 3
71087039236. 4

Question Number : 90 Question Id : 7108709820 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
In which one of the following phases of hair growth, the roots shrink into bulb-like shape?

1. Anagen phase

2. Catagen phase

3. Telogen phase

4. Both in Anagen & Telogen phase
Options :

71087039237. 1

71087039238. 2

71087039239. 3

71087039240. 4

Question Number : 90 Question Id : 7108709820 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

71087039237. 1

71087039238. 2

71087039239 3

71087039240. 4

Question Number : 91 Question Id : 7108709821 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

A gap within a stroke when the writing instrument leaves the paper is called a

1. Retrace

2. Cusp

3. Hiatus

4, Buckle
Options :
71087039241. 1
71087039242. 2
71087039243. 3
71087039244. 4

Question Number : 91 Question Id : 7108709821 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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1. Sl
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Options :
71087039241. 1
71087039242. 2
71087039243 3
71087039244. 4

Question Number : 92 Question Id : 7108709822 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

The Note forgery section and the Footprint section of CID were established in which year,
respectively?

1. 1917 and 1915
2. 1920 and 1922
3. 1910 and 1911
4. 1900 and 1908
Options :
71087039245. 1
71087039246. 2
71087039247. 3
71087039248. 4

Question Number : 92 Question Id : 7108709822 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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1.1917 3R 1915
2. 1920 3R 1922
3.1910 3R 1911
4. 1900 37X 1908
Options :
71087039245, 1
71087039246. 2
71087039247. 3
71087039248. 4

Question Number : 93 Question Id : 7108709823 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Which of the following drugs are used in Narco-analysis?
A. Sodium amytal

B. Sodium pentothal

C. Scopolamine hydrobromide

D. Atropine sulphate

Choose the correct answer from the options given below:

1. A, B and D only
2. A, Band Conly
3.B,Cand D only
4. A, Cand D only
Options :



71087039249. 1
71087039250. 2
71087039251. 3
71087039252. 4

Question Number : 93 Question Id : 7108709823 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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D. UeidiH Jethe
T feu e fasedl f @ U8l IR gHU:

1. PadA, B AR D
2. BAAA, B AR C
3. ®aa B, C AR D
4. HAAA CIARD
Options :
71087039249. 1
71087039250, 2
71087039251. 3
71087039252. 4

Question Number : 94 Question Id : 7108709824 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Which of the following can be detected through radicimmunoassay?
A. Metals

B.Toxicants

C. Drugs

D. Antigens

Choose the correct answer from the options given below:

1. A, B and C only
2. A, B and D only
3. A, Cand D only
4. B, Cand D only
Options :
71087039253. 1
71087039254. 2
71087039255. 3
71087039256. 4

Question Number : 94 Question Id : 7108709824 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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1. HAAA, B 3R C
2. ®HAA A, B AR D
3. ®aAA A, C3HRD
4. HadA B, C AR D
Options :
71087039253. 1
71087039254. 2
71087039255. 3
71087039256. 4

Question Number : 95 Question Id : 7108709825 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Which of the following are true for Lattes Crust method for blood identification?

A. Depends on antibodies within the stain

B. Depends on antigens within the stain

C. The test is more successful on blood crust

D. The test is more succesful on stains in which blood has permeated the substratum
Choose the correct answer from the options given below:

1. A, B and C only
2. A, D and B only
3.B,Cand D only
4. A, Cand D only
Options :
71087039257. 1
71087039258. 2
71087039259. 3
71087039260. 4

Question Number : 95 Question Id : 7108709825 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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1. HAAA, B 3R C
2. BaA A, D AR B
3. ®aAB, C3RD
4. HAAA, C3RD
Options :
71087039257. 1
71087039258. 2
71087039259. 3
71087039260. 4

Question Number : 96 Question Id : 7108709826 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Which of the following are the antidotes in case of methanol poisoning?
A, Acetylcysteine

B. Ethanol

C. Hydroxy cobalamine

D. 4 - methyl pyrazole

Choose the most appropriate answer from the options given below:

1. A and B only
2. B and D only
3.Cand D only
4. A and C only
Options :
71087039261. 1
71087039262. 2
71087039263. 3
71087039264. 4

Question Number : 96 Question Id : 7108709826 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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1. Had A 3R B
2. ®Had B AR D
3. ®ad C 3R D
4. HAAA 3R C
Options :
71087039261. 1
71087039262. 2
71087039263. 3
71087039264 4

Question Number : 97 Question Id : 7108709827 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Which of the following are the class characteristics of a fired bullet?
A. Diameter of the bullet

B. Number and diameter of lands and grooves

C. Rifling marks on the bullet

D. Direction and degree of twist

E. Firing pin marks

Choose the most appropriate answer from the options given below:

1. A, B and D only
2. A, CandE only
3.B, D and E only
4. B, Cand E only
Options :
71087039265. 1
71087039266. 2
71087039267. 3
71087039268. 4

Question Number : 97 Question Id : 7108709827 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



IS T3 (BS) Tl & FEAfREd @15 9 Sifed T&u g -

A, Tich @1 g
B. IHRI YT Widl &I Y& T4 I A
C. Tielt R IHie & g

D.
E. B U fug
2 feu T fowenl © € w8 Sw 9T

1. Had A, B3R D
2. HAAA, CHRE
3. @A B, D3R E
4. HadAB, C3ARE
Options :
71087039265 1
71087039266. 2
71087039267. 3
71087039268. 4

Question Number : 98 Question Id : 7108709828 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



In which region of the spectrum do modern digital cameras have a Bayer filter in front of the
image sensor to allow light?

A. Red region

B. Yellow region

C. Green region

D. Blue region

E. Orange region

Choose the correct answer from the options given below:

1. B, Eand C only
2.D, Eand B only
3. A, Cand D only
4. A Band Conly
Options :
71087039269. 1
71087039270. 2
71087039271.3
71087039272. 4

Question Number : 98 Question Id : 7108709828 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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1. ®aa B, E 3R C
2. Had D, E 3N B
3. BadA, C AR D
4, HIAA, B AR C
Options :
71087039269. 1
71087039270. 2
71087039271. 3
71087039272. 4

Question Number : 99 Question Id : 7108709829 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Soil consistency is a measure of which of the following characteristics?
A. Strength

B. Coherence

C. Colour

D. Soil density

E. Refractive index

Choose the most appropriate answer from the options given below:

1. A and B only
2. B and C only
3.Cand D only
4. D and E only
Options :
71087039273. 1
71087039274. 2
71087039275. 3
71087039276. 4

Question Number : 99 Question Id : 7108709829 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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1. Had A 3R B
2. HaAAB AR C
3. ®ad C 3R D
4. HaAD ARE
Options :
71087039273. 1
71087039274. 2
71087039275. 3
71087039276 4

Question Number : 100 Question Id : 7108709830 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



When an object moves through soil, dust, paint, blood and other fine particles, a two-
dimensional impression is formed, which is known as

A. Latent impression
B. Patent impression
C. Plastic impression
D. Visible impression
Choose the most appropriate answer from the options given below:

1. A and B only
2. B and C only
3.Cand D only
4. B and D only
Options :
71087039277. 1
71087039278. 2
71087039279. 3
71087039280. 4

Question Number : 100 Question Id : 7108709830 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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1. Had A 3R B
2. HaAAB AR C
3. ®ad C 3R D
4. HaAB 3R D
Options :
71087039277 1
71087039278. 2
71087039279. 3
71087039280. 4

Question Number : 101 Question Id : 7108709831 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



The standard writing of a person must represent and show

A. his writing at different times and under varying conditions

B. how he wrote at the time of questioned writing

C. furnish the person with a similar type of pen and paper and asked him to write a few lines
D. must prove that they are written by the person to whom it is attributed

E. to include enough material to show the pictorial appearance of his writing

Choose the correct answer from the options given below:

1. A, B and E only
2. B, C and E only
3.C,Dand A only
4. A, B and D only
Options :
71087039281. 1
71087039282. 2
71087039283. 3
71087039284. 4

Question Number : 101 Question Id : 7108709831 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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1. BadAA, B AR E
2. ®HadAB, C 3R E
3. @aaC, D3R A
4. HAAA B3R D
Options :
71087039281. 1
71087039282. 2
71087039283. 3
71087039284. 4

Question Number : 102 Question Id : 7108709832 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Which of the following punishments cannot be given to a juvenile who has commited an
offence?

A. Death sentence

B. Life imprisonment

C. Juvenile home

D. Imprisonment in default of payment of fine

Choose the correct answer from the options given below:

1. A, Cand D only
2. A, Band Conly
3. A, B and D only
4. B, Cand D only
Options :
71087039285. 1
71087039286. 2
71087039287. 3
71087039288. 4

Question Number : 102 Question Id : 7108709832 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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1. HaAA, C3RD
2. BAAA, B IAR C
3. ®AA A, BIARD
4. HadA B, C AR D
Options :
71087039285. 1
71087039286. 2
71087039287. 3
71087039288. 4

Question Number : 103 Question Id : 7108709833 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



RFLP (Restriction Fragment Length Polymorphism) analysis determines which of the following?
A. Power of discrimination (Pd)

B. Variation in the length of a defined fragment of DNA

C. Hundreds of variations at each locus

D. Age of bloodstain

Choose the most appropriate answer from the options given below:

1. D, A and C only
2.B, D and C only
3. A, Band Conly
4. A, D and B only
Options :
71087039289. 1
71087039290. 2
71087039291. 3
71087039292. 4

Question Number : 103 Question Id : 7108709833 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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1. BaAD, A 3R C
2. Had B, D AR C
3. PAUA, B IR C
4, B A, D 3R B
Options :
71087039289. 1
71087039290. 2
71087039291. 3
71087039292. 4

Question Number : 104 Question Id : 7108709834 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Which of the following steps may be followed in case of accidental exposure to phosphine
gas’?

A. Immediately moving to fresh air

B. Gastric lavage with normal saline

C. Confirm airway patency

D. Decontamination of skin and eyes with water

Choose the correct answer from the options given below:

1. A, Cand D only
2. A and B only
3.B and C only

4. B, Cand D only
Options :
71087039293. 1
71087039294, 2
71087039295. 3
71087039296. 4

Question Number : 104 Question Id : 7108709834 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



BRG H 719 & Figiie UG- & A HEfaRad 5 9 ®F 9 deAl & S8R0 [hdl §al g2
A. T Tl gal & o 91

B. UTHT GaUig od ° 9o UaTaH

C. drg Udlg @I 3davgdl dif IfF
D. U § &l 3R 3] &l [gdgyu
d feu T1u fadedl ¥ 981 IR 9T

1. HaAA, C3RD
2. Had A AR B

3. ®HaAAB AR C

4. HadA B, C AR D
Options :
71087039293 1
71087039294. 2
71087039295. 3
71087039296. 4

Question Number : 105 Question Id : 7108709835 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Value of remaining recoil velocity due to muzzle blast can be calculated by subtracting which
of the following from total recoil velocity?

A. Angle of ejection of the cartridge case

B. Velocities due to projectiles

C. Velocities due to gases

D. Trigger pull

Choose the correct answer from the options given below:

1. A and B only
2. B and C only
3.Cand D only
4. D and A only
Options :
71087039297. 1
71087039298. 2
71087039299. 3
71087039300. 4

Question Number : 105 Question Id : 7108709835 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



I fa¥hle & HRUN 2Y WiT&T0T Ta7 &1 JE1 S 0T $d Hidaaol Hai § FafRad el
YT DR DI ol Yol § ?

A. PRJY B & I&IUU & DIV B

B. I&ITUT & HRU HaTl

C. 1 & PR AT

D. S @1 Gald

i f&u e fawedt & €@ wdl Sw g

1. Had A 3R B
2. HaAAB AR C
3. ®ad C 3R D
4. HaAD AR A
Options :
71087039297. 1
71087039298. 2
71087039299. 3
71087039300. 4

Question Number : 106 Question Id : 7108709836 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Which of the following preservatives are used in photographic developing solution to prevent
wasteful oxidation of developing agent?

A. Sodium Sulphite

B. Phenidone Aminophenol

C. Potassium Metabisulphite

D. Methyl Pyrogallol

E. Dimezone Quinol

Choose the correct answer from the options given below:

1. D and B only
2. E and B only
3.B and C only
4. A and C only
Options :
71087039301. 1
71087039302. 2
71087039303. 3
71087039304. 4

Question Number : 106 Question Id : 7108709836 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



SAAUDR] DRD & U] SFIDHIV i b+ o [T BB STaUBRI aid H Hafead H
Y ®H ¥ uRRa® Ugad gid 87

A. GIf5TH gcbse

B. BrilsH SHHIG-d

C. Ui deEEaasEe

D. YT UsRiaa
. fediei era

i<l fGu U fasedl # € Hel 3w g

1. Had D AR B
2. HAAE 3R B
3. ®HaAAB AR C
4. HAAA 3R C
Options :
71087039301. 1
71087039302. 2
71087039303. 3
71087039304. 4

Question Number : 107 Question Id : 7108709837 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Which of the following deals with the study of Forensic Palynology?
A. Seeds

B. Spores

C. Pollen

D. Pistil

Choose the correct answer from the options given below:

1. A and B only
2. B and C only
3.Cand D only
4. A and C only
Options :
71087039305. 1
71087039306. 2
71087039307. 3
71087039308. 4

Question Number : 107 Question Id : 7108709837 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Fofaiad & 4 o =fe fag= uidiHaen & Si@a- J defia g 2
A. diol
B. &Il

C. TR

D. TR
2 feu T fowenl © € w8 Sw 9T

1. Had A 3R B
2. HaAAB AR C
3. ®ad C 3R D
4. HAAA 3R C
Options :
71087039305. 1
71087039306. 2
71087039307 3
71087039308. 4

Question Number : 108 Question Id : 7108709838 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



A particular tread pattern in shoes may be used to identify the

A. Shape of shoe

B. Size of shoe

C. Brand of shoe

D. Individual person

Choose the most appropriate answer from the options given below:

1. A, B and D only
2. A, Band Conly
3.B,Cand D only
4. A, Cand D only
Options :
71087039309. 1
71087039310. 2
71087039311. 3
71087039312. 4

Question Number : 108 Question Id : 7108709838 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



ol @ fered (S1s) & fafy ufaw™ &1 yai Fafdied ot ugdr & & o féar o 9odi g -
A. S[d B 3Tl

B. S[dl &1 SMHR

C. 9d DI dIS

D. fad

i f&u 7Y fgoedl & @ 981 I gHU:

1. ®dd A B3R D
2. BAUA, B AR C
3. $ad B, C 3R D
4, HIA A, C3RD
Options :
71087039309. 1
71087039310. 2
71087039311. 3
71087039312. 4

Question Number : 109 Question Id : 7108709839 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Presence of specular reflection by gel-pen stroke, discontinuity of sheet of a laser printer,
skipping of and a gap in gel-pen stroke indicates:

A. Gel pen stroke is above

B. Gel pen stroke is below

C. Laser printer stroke is above

D. Laser printer stroke is below

Choose the correct answer from the options given below:

1. A and B only
2. B and C only
3. A and D only
4. Cand D only
Options :
71087039313. 1
71087039314. 2
71087039315. 3
71087039316. 4

Question Number : 109 Question Id : 7108709839 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



oiet U9 i gRI IAdId Wi &l JuRdld, Tor fiiex &1 96 H Siavid, Wd U4 ik gedl
YT 3T SR G & :

A. 9T 0F Kl W B

B. oIl U i A1d 3|

C. doR iR €id SW |

D. tioR fiier wid i B

i f&u ¢ famedl # 9 Wl I g :

1. Had A 3R B
2. HaAAB AR C
3. ®ad A AR D
4. Had C AR D
Options :
71087039313 1
71087039314. 2
71087039315. 3
71087039316. 4

Question Number : 110 Question Id : 7108709840 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Bite marks help in personal identification using which of these types of evidence?

A. Saliva

B. Lip prints

C. Teeth marks
D. DNA

Choose the correct answer from the options given below:

1. A, B and C only
2. B, Cand D only
3. A, B and D only
4. A, Cand D only

Options :

71087039317. 1
71087039318. 2
71087039319. 3
71087039320. 4

Question Number : 110 Question Id : 7108709840 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



FafeRad # € - wiegl & Uai 9 &id | ®lcd & fdws duidad Ugdr d Jghdl ®d & -
A. TR

B.810

C. o< s

D.3ITAY

i f&u 7Y fgoedl & @ 981 I gHU:

1. HAAA, B 3R C
2. @A B, C3RD
3. ®AA A, BIARD
4. HAAA, C3RD
Options :
71087039317. 1
71087039318. 2
71087039319. 3
71087039320. 4

Question Number : 111 Question Id : 7108709841 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Which of the following are correct regarding the addition of Internal Standard (IS) during the
extraction of drug from biomatrix?

A. 1S should mimic the physicochemical properties of the drug.

B. IS should not compensate for any loss of drug.

C. Stable - isotope labelled analogues of the drug are the best choice as IS.
D. IS would make the method less sensitive.

Choose the correct answer from the options given below:

1. A and B only
2. B and D only
3. A and C only
4. Cand D only
Options :
71087039321. 1
71087039322. 2
71087039323. 3
71087039324. 4

Question Number : 111 Question Id : 7108709841 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



W - Gl U gal B Adad & SR 3fd: A (31A1) & 9aie- o day § Fafafad 3 @ o
EE

A. 33 U0 &1 Gdl & DIk J9E- (bl ad) o & 95 gH1 et

B. 313 ¥ Bl &dl @I fbdl YR 1 &ffc & fow &ifcgfd 181 &1 9igy

C. a1 & (&R - TANA® (ad - AEdiery) 3ifthd 9eW 3 T8 & ¥U § 9ad 994 8
D. 3T TH YU @i H Tda! a1

i f&u ¢ famedl # 9 Wl I g :

1. Had A 3R B
2. ®Had B AR D
3. @A A AR C
4. ad C AR D
Options :
71087039321. 1
71087039322. 2
71087039323. 3
71087039324, 4

Question Number : 112 Question Id : 7108709842 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Which of the following are advantages of solid-phase extraction over liquid extraction?
A. Small sample size

B. High solvent consumption

C. Emulsion formation

D. High extraction efficiency

Choose the correct answer from the options given below:

1. B and C only
2. A and B only
3. A and D only
4. Cand D only
Options :
71087039325. 1
71087039326. 2
71087039327. 3
71087039328. 4

Question Number : 112 Question Id : 7108709842 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



T R B @ o | 314 e Ferl & Feiid T aH § -
A. BieT ufaesf

B. 3o fdaa® Wud

C. SHARM S (BTHEM)
D. 3= ol gara
d feu T1u fadedl ¥ 981 IR 9T

1. PaA B 3R C
2. Had A AR B
3. ®ad A AR D
4. Had C AR D
Options :
71087039325. 1
71087039326. 2
71087039327. 3
71087039328. 4

Question Number : 113 Question Id : 7108709843 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



A fired cartridge case can be linked to the suspect firearm on the basis of
A. Firing - Pin marks

B. Rifling marks

C. Breech - face marks

D. The direction of twist of rifling

Choose the correct answer from the options given below:

1. A, B and C only
2. A and B only

3. A, Cand D only
4. A and C only
Options :
71087039329. 1
71087039330. 2
71087039331. 3
71087039332. 4

Question Number : 113 Question Id : 7108709843 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



&R TR PRAY & W @I oG HHaRd 4 Fofafed H ¥ f6ud Jas &g o 9adl &
A. IR U9 & =

8. AT & 21

C. did - 99 &1 (494

D. MBI & YHId DI fa=m

- feu Y famedl & 9 Wl 3w g :

1. HAAA, B 3R C
2. Had A AR B

3. ®aAA A, C3HRD
4. HAAA 3R C
Options :
71087039329. 1
71087039330. 2
71087039331 3
71087039332. 4

Question Number : 114 Question Id : 7108709844 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



While making a test cast with a seized tool, a forensic examiner will try to replicate it using
casting material such as

A. Dental plaster

B. Plasticine

C. Moulage

D. Mikrosil

E. Permlastic

Choose the correct answer from the options given below:

1. B and D only

2. E, D and B only

3. A, B, Cand D only
4. A B, C DandE only
Options :

71087039333. 1
71087039334. 2
71087039335. 3
71087039336. 4

Question Number : 114 Question Id : 7108709844 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



TG U T T O THam T a1 aud fafd a9e 34 ¢a ol @1 gvigha & e
fafefad & 4 for uemf &1 9d & w0 & v soT | S

A. STT QIR

B. TR T

C. Hicial

D. FHep I

£, THAIRE®

i f&u 7Y fgoedl & @ 981 I gHU:

1. Baa B 3R D

2. A E D3R B

3. @AAA, B, C 3R D
4.A B, C D3IRE
Options :
71087039333 1
71087039334. 2
71087039335, 3
71087039336. 4

Question Number : 115 Question Id : 7108709845 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Match List | with List 11

List | List I

A. Bestiality  |I. Anal Intercourse

B. Incest Il Intercourse with a dead body

C. Sodomy |lll. Intercourse with lower animal
D. Necrophilia|lV. Intercourse with blood relatives

Choose the correct answer from the options given below:

T.A-ILB-I,C-1V,D-I
2ZA-1,B-1,C-1V,D-1l
3A-ILB-IV,C-1I,D-1
4 A-ILB-IV,C-I,D-1
Options :

71087039337. 1
71087039338. 2
71087039339. 3
71087039340. 4

Question Number : 115 Question Id : 7108709845 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



| -1l

A, OIS RIFEC

B. S{RNTHA . Jd TRR & 91y Ay
C. a1 yH 1. 99 Sita & oy fy=
D. SshIwbITerr V. T & 9y 7y
Fafeiad fdmedl § 9 98! 3w gHu

T.A-ILB-I,C-1V,D-I
2ZA-1,B-1,C-1V,D-1l
3A-ILB-IV,C-1I,D-1
4 A-ILB-IV,C-I,D-1
Options :

71087039337. 1
71087039338. 2
71087039339. 3
71087039340. 4

Question Number : 116 Question Id : 7108709846 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Match List | with List 11

List | List 11

A. Increased ISO number on the digital camera .. Tagged image file format

. ] Il. Digital camera sensor becomes more
B. Lossy compression file format . .
light-sensitive

C. Most high-end DSLR cameras can save two file Il IPEG
formats of image |

D. TIFT IV. JPEG and RAW

Choose the correct answer from the options given below:

TA-NLB-I,C-1,D-IV
ZA-1,B-N,C-1,D-1IV
3A-IV,B-II,C-1II,D-1
4 A-ILB-N,C-IV,D-I
Options :

71087039341. 1
71087039342. 2
71087039343. 3
71087039344. 4

Question Number : 116 Question Id : 7108709846 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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B 1. T8foed 3 &1 4 e

B. AT HETH BI5d BEe IO

c. @ SrAY® S TH U9 3R T Sl & &l Bisd NP

WIHe YRI&d &R Udbd & IR

D. &1 315 U & V.S O S ol 3R SR U Sy,

- feu e foweal © € 98 S g

TA-NLB-I,C-1,D-IV
ZA-1,B-N,C-1,D-1IV
3A-IV,B-II,C-1II,D-1
4 A-ILB-N,C-IV,D-I
Options :

71087039341. 1
71087039342. 2
71087039343. 3
71087039344. 4

Question Number : 117 Question Id : 7108709847 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Match List | with List 11

List | List 1l

A. GSR on the cast treated with diphenylamine dissolved in .. Orange ring indicates the
sulphuric acid presence of antimony

B. GSR on test cloth treated with 1 drop of triphenyl methyl  |Il. Pink-coloured specks
arsonium iodide alcoholic solution (109%) indicate nitrite particles

C. GSR on filter paper, moistened with acetic acid, is sprayed  |lll. Pinkish violet (scarlet)
with a solution of 2 naphthylamine sulphanilic acid and nitric  |colour indicates the presence
acid of lead

D. GSR on cloth piece moistened with 1% HCl treated with V. Blue colour spots indicate
sodium rhodizonate solution the presence of nitrates

Choose the correct answer from the options given below:

TA-LB-IV,C-1I,D-1
2ZA-1,B-N,C-1V,D-I
3A-ILB-ILC-1,D-1IV
4 A-IV,B-LC-II,D-1I
Options :

71087039345. 1
71087039346. 2
71087039347. 3
71087039348. 4

Question Number : 117 Question Id : 7108709847 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Tclg T3 (BHs) Tict & HRfEREad ®H U gred dav e :
A, TTich @1 g

B. JHRI YT TWidl B HBH1 T4 I7h] ™
C. el R IZ GBI & g

D. IHId ®1 G211 3R URHAT (degree)

£, Bk U4 g

i f&u 7w faeul # @ U5l I gHU:

1. Pad A, B3R D
2. BaA A, C3RE
3. @A B, D3R E
4. HadAB, C3ARE

Options :

71087039345. 1
71087039346. 2
71087039347. 3
71087039348. 4

Question Number : 118 Question Id : 7108709848 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Match List | with List 11

List | List 11

Plant Poison Active principle
A. Atropa belladonna . Bhilawanol

B. Strychnos nux-vomica Il. Nerlifolin

C. Semecarpus anacardium  |lll. Hyoscyamine
D. Thevetia peruviana V. Brucine

Choose the correct answer from the options given below:

TA-ILB-IV,C-1,D-I
2ZA-IVB-1LC-II,D-1I
SA-LB-U,C-U,D-1IV
4AA-ILBE-IV,C-1I,D-1
Options :

71087039349. 1
71087039350. 2
71087039351. 3
71087039352. 4

Question Number : 118 Question Id : 7108709848 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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0e &1 fqy ihd 92

A. TSIl deTS I REGIEEIN!

5. FEd-g 79 i@l 1. FmITeH
C. YHIHRYY UhITSaH Y ||Il. SRRIARA
D. fydfear gsfagm V. gEIgA
e fau e fasedl ©f @ U8l IR gHU:

TA-ILB-IV,C-1,D-I
2ZA-IVB-1LC-II,D-1I
SA-LB-U,C-U,D-1IV
4AA-ILBE-IV,C-1I,D-1
Options :
71087039349. 1
71087039350. 2
71087039351. 3
71087039352. 4

Question Number : 119 Question Id : 7108709849 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Match List | with List 11

List | List 11

. The cylinder that serves as the backing for the paper and absorbs the blow
A. Escapement
from the typeface

B. Type-Ball  |Il. Typewriters that print 10 characters to the inch

C Platen lll. A device containing all the typefaces of some single element typewriter and
which by rotation and tilting, prints the type characters

> PC% IV. The spacing along the line of typewriting, that is, the basic letter spacing

machines

/. The machine that prints 12 characters to the inch

Choose the correct answer from the options given below:

TA-IL,LBE-IW, C-1I,D-1
2ZA-ILB-N,C-V,D-1
3A-IVB-ILLC-IILD-V
4 A-IVB-IIILC-1,D-1
Options :

71087039353. 1
71087039354. 2
71087039355. 3
71087039356. 4

Question Number : 119 Question Id : 7108709849 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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TA-IL,LBE-IW, C-1I,D-1
2ZA-ILB-N,C-V,D-1
3A-IVB-ILLC-IILD-V
4 A-IVB-IIILC-1,D-1
Options :

71087039353. 1
71087039354. 2
71087039355. 3
71087039356. 4

Question Number : 120 Question Id : 7108709850 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Match List | with List 11

List | List 1l

A. Phenolphthalin l. When oxidized and catalyzed by heme, it emits an intense yellowish-
assay green light

B. Benzidine assay . It is catalyzed by heme with hydrogen peroxide as the oxidant

Ill. These are heme derivatives in which ferrous iron of the heme forms

C. Fluorescein assay . ,
two bonds with nitrogenous bases

D. Hemochromagen
J IV. It is catalysed by heme to produce blue to dark blue colour

crystal assay

Choose the correct answer from the options given below:

TA-ILB-N,C-1,D-1IV
2ZA-1,B-N,C-IV,D-1I
3A-ILB-IV,C-1,D-1I
4 A-IV,B-LC-II,D-1I
Options :

71087039357. 1
71087039358. 2
71087039359. 3
71087039360. 4

Question Number : 120 Question Id : 7108709850 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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TA-ILB-N,C-1,D-1IV
2ZA-1,B-N,C-IV,D-1I
3A-ILB-IV,C-1,D-1I
4 A-IV,B-LC-II,D-1I
Options :

71087039357. 1
71087039358. 2
71087039359. 3
71087039360. 4

Question Number : 121 Question Id : 7108709851 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Match List | with List 11

List | List Il

A. Individual characteristics of soil
l. Tufa and Ocean floor
are

B. Class characteristics of soil are  |Il. Study of a variety of scil and its distribution

IIl. Unusual components such as pollen, seeds, spores,
C. Sand types are i
fossils

D. Pedology V. Colour, density, percentage of components

Choose the correct answer from the options given below:

TA-LB-1,C-1L,D-1IV
2ZA-1LB-IV,C-1,D-1I
3A-ILB-1L,C-1I,D-1IV
4 A-IV,B-NIL,C-1,D-1
Options :

71087039361. 1
71087039362. 2
71087039363. 3
71087039364. 4

Question Number : 121 Question Id : 7108709851 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



-l -1l
A Bl Bl fed [ARPATe |1 1 3R 942 ad
B. JaT &1 @l fArRIFaTt & 1. eI fafgear 3R S8 f&Gawu &1 e
CITUBR & 1. TR, &S, WY, Sfiared ol S 9ed
D. Hal fagH V. GYCHI I T, Todl, Wia=d
- feu e foweal © € 98 S gAY

TA-LB-1,C-1L,D-1IV
2ZA-1LB-IV,C-1,D-1I
3A-ILB-1L,C-1I,D-1IV
4 A-IV,B-NIL,C-1,D-1
Options :

71087039361. 1
71087039362. 2
71087039363. 3
71087039364. 4

Question Number : 122 Question Id : 7108709852 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Match List | with List 11

List | List Il

A. That part of a letter that rises above the baseline . Crossbar
B. A curved or angular projection usually occurring in an initial and the terminal |II. Initial
strokes stroke

C. The stroke that intersects the staff or the main portion of the letter . Ascender
D. The first writing movement of a letter IV. Hook

Choose the correct answer from the options given below:

TA-LB-N,C-1,D-1IV
2ZA-1LB-IV,C-1,D-1I
3A-ILB-1L,C-1V,D-1I
4 A-IV,B-1I,C-1I,D-1
Options :

71087039365. 1
71087039366. 2
71087039367. 3
71087039368. 4

Question Number : 122 Question Id : 7108709852 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Gali-1 I Tali-11 & 9y GAferd Hiford -

- -1l

A. &R BT T8 HIT Sl YR 1@ 4 FW I8d1 8 L AP &3 (PN R)
;&W HRIHS 9 SifcdH Eid & 8 dIell asbid Syl By 1. ST G

C. 3{&R & Hdcid Ydl i YR & dle dldl €id 11, 3RIEH

D. fardll 31&fch 1 Ugall oigH V. §®
FafeRad fdmedl § ¥ 98! 3w 9 :

TA-LB-N,C-1,D-1IV
2ZA-1LB-IV,C-1,D-1I
3A-ILB-1L,C-1V,D-1I
4 A-IV,B-1I,C-1I,D-1
Options :

71087039365. 1
71087039366. 2
71087039367. 3
71087039368. 4

Question Number : 123 Question Id : 7108709853 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Match List | with List 11

List | List 11

) . Well defined margins, corresponding to the rows of teeth in the dental
A. Dog bite I
arch

, ll. Long grooves of a width corresponding to the width of chisel edged
B. Cat bite S
incisor teeth

C. Rodent bite ,
I1l. Circular arch

D. Shark bite IV, Smaller rounder arch with punctures

Choose the correct answer from the options given below:

TA-ILB-1,C-IV,D-1
2ZA-1,B-N,C-IV,D-1I
3A-ILB-IV,C-1I,D-1
4 A-IV,B-NIL,C-1,D-1
Options :

71087039369. 1
71087039370. 2
71087039371. 3
71087039372. 4

Question Number : 123 Question Id : 7108709853 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



A. T BT Bl . G=i1d 919 | il & Ufckadl & Jex1 QUi [
8. farceit &1 dre 1. Bt B J&UTdT aTdd P Gidl &I diely & el dIsls aId o @id
C. = UTuil &1 &1e |I11. dda 91y

D. BT HI Il v, fasl & 91y Bit Md 919
- feu T foweal © € 98 S gAY

TA-ILB-1,C-IV,D-1
2ZA-1,B-N,C-IV,D-1I
3A-ILB-IV,C-1I,D-1
4 A-IV,B-NIL,C-1,D-1
Options :

71087039369. 1
71087039370. 2
71087039371. 3
71087039372. 4

Question Number : 124 Question Id : 7108709854 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Match List | with List 11

List | List 11

A. Twist . 4'55?8(where N is the bore number)
I 150 (in calibres)

B. Ballistic co-efficient " Length of the bullet
C.d* (where d is diameter of I, %gtf (where g is the acceleration due to gravity and 't’
barrel in inches) is the time taken)

. : Sectional Densi
D. Drop (at a given time 't’) I\, e¢ “_ma ensity .

Co — efficient of Reduction

Choose the correct answer from the options given below:

TA-LB-UN,C-1LD-IV
2A-1L,B-IV,C-1,D-1l
3A-ILB-1,C-IV,D-1I
4A-IVB-I,C-1,D-1
Options :

71087039373. 1
71087039374. 2
71087039375. 3
71087039376. 4

Question Number : 124 Question Id : 7108709854 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



| i

A fgwe = . 4.6578 / N (STgl N IR &1 U1 8)

B. Tl Tuiid 11, 150/ TTicH &I TaTg (hicas H)
C.dERidsad A DI ™  |IIl. 1/2 gt? (SFel ‘g’ TTEHYU & 1Y @0 & 3R 't 1 99
D. 31U (Vad ¥HY 't IX) . TP g / T0Id BT B

- feu T1u fasedl ¥ 981 IR 9T

TA-LB-N,C-1,D-1IV
2ZA-1L,B-IV,C-1,D-1I
3A-IILB-1,C-IV,D-1I
4 A-IV,B-1I,C-1I,D-1
Options :

71087039373. 1
71087039374. 2
71087039375. 3
71087039376. 4

Question Number : 125 Question Id : 7108709855 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Match List | with List 11

List | List Il
A. Refractive index . 3.1
B. Inductively coupled Il. An instrument used for both for glass digestion and elemental

plasma mass spectrometer |analysis for determination of the chemical composition

C. Lead crystal glass
. . 1.467
density in (g/mL)

D. Refractive index of olive ,
V. Becke line

oil

Choose the correct answer from the options given below:

TA-LB-N,C-1,D-1IV
2ZA-IV,B-1I,C-1,D-1I
3A-ILB-ILC-1,D-1IV
4 A-1L,B-IV,.C-lILD-1
Options :

71087039377. 1
71087039378. 2
71087039379. 3
71087039380. 4

Question Number : 125 Question Id : 7108709855 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



- -l

A. HUadH Yd& . 3,1

B. AFIHE ¥9 I giferd @red1 |11, TEafHa® Jue & HyiRo & 6w &g & faagq ok difas
A Wae e far=eiuur & fofy Uged SUaRUl

C. 21 Thidd &id U [@1/

) I, 1.467

D. Ui 9 &I 3Udd- gad IV 9 dlgd

- feu T1u fasedl ¥ 981 IR gHU:

TA-LB-N,C-1,D-1IV
2ZA-IV,B-1I,C-1,D-1I
3A-ILB-ILC-1,D-1IV
4 A-1L,B-IV,.C-lILD-1
Options :

71087039377. 1
71087039378. 2
71087039379. 3
71087039380. 4

Question Number : 126 Question Id : 7108709856 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Match List | with List 11

List | List 11

A. Omission of parts of letters or even whole letter in a signature . Legibility

B. The case with which a reader recognizes individual letter and character ,
Il.LEmbellishments
shape

C. The small or lower case forms of letters of Roman script lIl. Abbreviation

D. Extended strokes that are easily made and are the natural outgrowths of ,
V. Minuscules

speed freedom or individual caprice

Choose the correct answer from the options given below:

TA-LB-N,C-1,D-1IV
2ZA-1L,B-IV,C-1,D-1I
3A-IILB-1,C-IV,D-1I
4 A-IV,B-1I,C-1I,D-1
Options :

71087039381. 1
71087039382. 2
71087039383. 3
71087039384. 4

Question Number : 126 Question Id : 7108709856 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Gali-1 I Tali-11 & 9y GAferd Hiford -

gal-| -1l

A. BEIIER H 3R o 6% 91 95 31&R &1 Y - gHicudl
B. 3{THT-HTHT &R a1 PHfadl &I UE® gRI UgdH o &1 GiHd! 1. SfEHR
C. 39 Y & 21&Rl & aY 1 B 25U ¥4 1. H&ToT
mwgﬂmaﬁﬁﬂm@ﬁﬁﬁwﬂmwm SR V. B e
I feu Y fadedl # 9 981 IR T

TA-LB-N,C-1,D-1IV
2ZA-1L,B-IV,C-1,D-1I
3A-IILB-1,C-IV,D-1I
4 A-IV,B-1I,C-1I,D-1
Options :

71087039381. 1
71087039382. 2
71087039383. 3
71087039384. 4

Question Number : 127 Question Id : 7108709857 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Arrange the following steps for scientific disposal of a criminal case:
A. Testing procedures

B. Recognition of evidence

C. Courtroom presentation

D. Collection of evidence

Choose the correct answer from the options given below

1.D,B A C

2 A B CD
3B.CAD
4.B,D, A C
Options :
71087039385. 1
71087039386. 2
71087039387. 3
71087039388. 4

Question Number : 127 Question Id : 7108709857 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



HUATY® AT & aqii-—e Hue & foe HafaRad 9w of sgafud i -
A. Gi&r ufhamy
B. TI&d & UgdH

C. 1Ty éf URgaiaul
D. H1&dl &1 U8

i<l fGu U fasedl # € Hel 3w g

1.D,B A C

2 A B CD
3B.CAD
4.B,D, A C
Options :
71087039385. 1
71087039386. 2
71087039387. 3
71087039388. 4

Question Number : 128 Question Id : 7108709858 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Arrange the following evidence types in the correct order of priority for collection and
preservation at a crime scene:

A. Documentary

B. Transient

C. Latent

D. Biological

Choose the correct answer from the options given below

1.D,A B C
2.B, DA C
3.CD,B A

4. A, C DB
Options :
71087039389. 1
71087039390. 2
71087039391. 3
71087039392. 4

Question Number : 128 Question Id : 7108709858 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Frafafad Tredl &1 SiRTY ®e IR U B aUl W& B gd D! Urdfaddl a1 YR R
Eﬁﬁﬁmﬁlﬂﬁ oIy

A. TEITdS H1gg

B. ScUdIcId TIed

C. T T&d

D. Sidid |Igg

i f&u ¢ famedl # 9 Wl I g :

1.D,A B C
2.B, DA C
3.CD,B A

4. A, C DB
Options :
71087039389. 1
71087039390. 2
71087039391. 3
71087039392. 4

Question Number : 129 Question Id : 7108709859 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



The correct sequence of recording evidence in the court of law is:
A. Oath

B. Cross-examination

C. Examination in chief

D. Re-examination

Choose the correct answer from the options given below

1. A CBD
2CADB
3.D,C,B A
4. A, D CB
Options :
71087039393.
71087039394.
71087039395.
71087039396.

AW O~

Question Number : 129 Question Id : 7108709859 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



ey | Hieg HHRET $e- & 98l A B -
A. T9Y

B. Ufcudiat

C. TeITHHRA 37 1%

D. UF: TR

i f&u ¢ famedl # 9 Wl I g :

1. A CBD
2CADB
3.D,C,B A
4. A, D CB
Options :
71087039393.
71087039394.
71087039395.
71087039396.

AW N =

Question Number : 130 Question Id : 7108709860 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Identify the correct sequence in which techniques of DNA analysis have been developed
A. D1580

B. HLA-DQ «

C.5TR

0. mt DNA

Choose the correct answer from the options given below

1. A BCD
2B CAD
3.BACD

4. C, A B D
Options :
71087039397. 1
71087039398. 2
71087039399. 3
71087039400. 4

Question Number : 130 Question Id : 7108709860 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



31 T U fa=eiuu &1 da-iio! o [dhra & Hgl A @i UgdH B ;
A. S TP TH 80

B.IIUAUSI T a

C.EH 3R

D.HZ.SITAT

i f&u 7Y fgoedl & @ 981 I gHU:

1. A BCD
2B CDA
3.BACD

4. C, A B D
Options :
71087039397. 1
71087039398. 2
71087039399. 3
71087039400. 4

Question Number : 131 Question Id : 7108709861 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



The correct sequence in the method for restoration of an obliterated painted number on a
vehicle registration number plate is:

A. Visual examination

B. Photography

C. Oblique light examination

D. Washing away the upper layer with chloroform or dioxane
E. Photography of restored number

Choose the correct answer from the options given below:

1.A B CD,E
2B CDEA
3.CD,EBA
4.E D, B A C
Options :

71087039401. 1
71087039402. 2
71087039403. 3
71087039404. 4

Question Number : 131 Question Id : 7108709861 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



qTE @1 UsiiRUl S Wi R FHETY U INH T3 H3A1 & GH: 0 DI UK 31 Hel A 6 -
A. &[0T TT&T0T

B. BICATH!

c. o A= g

D. TIRTBH Yl ST ¥ HUL Gde B Uil

E. U: RTT0d T3 Bl Ie bl

i f&u ¢ famedl # 9 Wl I g :

1.A B CD,E
2B CDEA
3.CD,EBA
4.E D, B A C
Options :
71087039401. 1
71087039402. 2
71087039403. 3
71087039404. 4

Question Number : 132 Question Id : 7108709862 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Arrange the following Military Explosives in decreasing order of their performance?
AL HMX

B. PETN

C. RDX

D. TNT

Choose the correct answer from the options given below:

1.A>B>C=D
2ZA>C=B=D
3C>A>D>B
4 D=C=8=A
Options :
71087039405. 1
71087039406. 2
71087039407. 3
71087039408. 4

Question Number : 132 Question Id : 7108709862 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



&7 fqepic® & (e ed %A & Uid Felaed H 4 e arggi 6 ?
A TdUH U

.U d T

C. 3R 1 T

D.AEd

i f&u 7Y fgoedl & @ 981 I gHU:

1.A>B>C=D
2ZA>C=B=D
3C>A>D>B
4 D=C=8=A
Options :
71087039405. 1
71087039406. 2
71087039407. 3
71087039408. 4

Question Number : 133 Question Id : 7108709863 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



The correct sequence of taking voice exemplar or voice samples from the suspect is:
A. Engaged the suspect in extemporaneous speech

B. Asked suspect to read/repeat some of the materials on the evidence tape

C. Asked suspect to read sections from a newspaper or a magazine

D. Repeat the whole task again

Choose the correct answer from the options given below:

1. A BCD
2.D,CBA
3.CB DA
4B A CD
Options :
71087039409. 1
71087039410. 2
71087039411. 3
71087039412. 4

Question Number : 133 Question Id : 7108709863 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



HfETe Y S1ara B el (UFAFTR) HYdl Tl & T5- o+ &1 gl PH o :
A. T DI 3R] Y901 &1 B Be

5. TfeT ¥ W1ea 20 Tt § ¥ ©9 UeH / GleH & [aT o

C. TfeTe ¥ 3RgaR I1 U § $@ e Ue- &l dg

D. T B B glgay

i f&u ¢ famedl # 9 Wl I g :

1. A BCD
2.D,CBA
3.CB DA
4B A CD
Options :
71087039409. 1
71087039410. 2
71087039411. 3
71087039412. 4

Question Number : 134 Question Id : 7108709864 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Given below are two statements, one is labelled as Assertion A and the other is labelled as
Reason R

Assertion A: The spliced mRNA form is produced which is used for protein synthesis
Reason R: Because in splicing, the introns are removed and the exons are joined

In light of the above statements, choose the most appropriate answer from the options given
below

1. Both A and R are correct and R is the correct explanation of A

2. Both A and R are correct but R is NOT the correct explanation of A
3. A is correct but R is not correct

4. A is not correct but R is correct

Options :

71087039413. 1

71087039414. 2

71087039415. 3

71087039416. 4

Question Number : 134 Question Id : 7108709864 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



I &l By RU TN B : Ud @l i@y (a) SR GHR &I dd (R) Pl T & -

HYDHYA (A) : T3 51 TH 3R U4 U =y faffHd giar & o wid= d=amur o forg wanT faan srar
gl

dd (R) : TFITth Sile & BRUI 3¢ gel [GU ofld & SR Ueag difd gid g

IWdd dBYHT & et H Fgifdd fddel d ¥ affie 3ugdd 3w 9 -

1. (A) 3R (R) THT T8l & 3R (R), (A) P! ol AR 5|

2. (A) ¥R (R) GHI T8I B &R (R), (A) DI T6l SREAT T2l 3|
3. (A) 981 & TR (R) ¥ol T &

4. (A) Bl 61 8 U (R) 9Bl 5|

Options :

71087039413. 1

71087039414. 2

71087039415. 3

71087039416. 4

Question Number : 135 Question Id : 7108709865 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Given below are two statements, one is labelled as Assertion A and the other is labelled as
Reason R

Assertion A: The iodine silver plate transfer method was considered to be a practical
technique for the recovery of latent fingerprints on the skin in the past

Reason R: Skin area suspected to contain latent fingerprints is first fumed with an iodine
fuming gun. Once the latent print image is developed, then the image is transferred onto a
silver plate exposed to strong light and evaluated

In light of the above statements, choose the correct answer from the options given below

1. Both A and R are true and R is the correct explanation of A

2. Both A and R are true but R is NOT the correct explanation of A
3. A is true but R is false

4. A is false but R is true

Options :

71087039417. 1

71087039418. 2

71087039419. 3

71087039420. 4

Question Number : 135 Question Id : 7108709865 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



I &l By RU TN B : Ud @l i@y (a) SR GHR &I dd (R) Pl T & -

HYDHYA (A) : 3Acia H @l R Y=5d AT foel & G301t & e smaidiq e wie siarul
faft &1 U gagRes ddo-iids | iIdl 4Tl

deh (R) : U=dd SRfC Favg o ToiT GieT™ el & 8 @l Ugd SaisH 989 74 9 YiHd fddl |l
2| w5 d g Bid [aafid gH o 91g, 39 S1d &I ool UHie H Jw114d ek e | Sfdlkd &2
qedieH fodl Sl g1

Suddd HYHl & Male H e d [deedl & I g1 SR g -

1. (A) 3R (R) THT T8l & 3R (R), (A) P! ol AR 5|

2. (A) ¥R (R) GHI T8I B &R (R), (A) DI T6l SREAT T2l 3|
3. (A) 981 & TR (R) ¥ol T &

4. (A) Bl 61 8 U (R) 9Bl 5|

Options :

71087039417. 1

71087039418. 2

71087039419. 3

71087039420. 4

Question Number : 136 Question Id : 7108709866 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Given below are two statements

Statement |: The weight of the hand, gradation of pressure and placing of emphasis radically
changes the appearance of writing as a whole, without changing the form.

Statement |I: These delicate characteristics almost baffle simulation and if examined properly,
are always among the strongest evidence of genuineness.

In light of the above statements, choose the most appropriate answer from the options given
below

1. Both Statement | and Statement Il are correct

2. Both Statement | and Statement Il are incorrect
3. Statement | is correct but Statement Il is incorrect
4, Statement | is incorrect but Statement 1l is correct
Options :

71087039421. 1

71087039422. 2

71087039423. 3

71087039424. 4

Question Number : 136 Question Id : 7108709866 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



A C AT LS

©YH-1 : B4 DI HR, T4 B fagffd GeTF) 3R dd &1 WU T & ¥ Bl 9gal (&1 THId H
D! AP DI Yd ¥4 H 960 ad o

Y- - T Y& fARIPaId S=qu & T i &R ¢d § 3R, 3¢ 3fud UeR iid &I ol dl,
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Options :

71087039421. 1

71087039422. 2

71087039423, 3
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Question Number : 137 Question Id : 7108709867 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Given below are two statements

Statement |: The single most important skill a forensic scientist can have is the ability to make
accurate observations, whether at a crime scene or in the laboratory.

Statement lI: Scientists are trained in making observations early in their careers by spending
countless hours in the laboratory

In light of the above statements, choose the most appropriate answer from the options given
below

1. Both Statement | and Statement Il are correct

2. Both Statement | and Statement Il are incorrect
3. Statement | is correct but Statement Il is incorrect
4, Statement | is incorrect but Statement 1l is correct
Options :

71087039425. 1

71087039426. 2

71087039427. 3

71087039428. 4

Question Number : 137 Question Id : 7108709867 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

71087039425. 1

71087039426. 2

71087039427. 3

71087039428. 4

Question Number : 138 Question Id : 7108709868 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Given below are two statements, one is labelled as Assertion A and the other is labelled as
Reason R

Assertion A: An ellipsoid shape may indicate that a small amount of tissue was taken and only
involves the anterior teeth.

Reason R: The amount of skin held in the bite may determine the shape of the mark as
per Jakobsen and Keiser-Nielsen (1981)

In light of the above statements, choose the most appropriate answer from the options given
below

1. Both A and R are correct and R is the correct explanation of A

2. Both A and R are correct but R is NOT the correct explanation of A
3. A is correct but R is not correct

4. A is not correct but R is correct

Options :

71087039429. 1

71087039430. 2

71087039431. 3

71087039432. 4

Question Number : 138 Question Id : 7108709868 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

71087039429. 1

71087039430. 2
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Question Number : 139 Question Id : 7108709869 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Given below are two statements, one is labelled as Assertion A and the other is labelled as
Reason R

Assertion A: Water is a weak scatterer and therefore an excellent solvent for Raman work.
Reason R: This has important consequences in studies of biochemicals and pharmaceuticals.
In light of the above statements, choose the correct answer from the options given below

1. Both A and R are true and R is the correct explanation of A

2. Both A and R are true but R is NOT the correct explanation of A
3. A is true but R is false

4. A is false but R is true

Options :

71087039433. 1

71087039434. 2

71087039435. 3

71087039436. 4

Question Number : 139 Question Id : 7108709869 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

71087039433. 1

71087039434. 2

71087039435. 3
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Question Number : 140 Question Id : 7108709870 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Given below are two statements, one is labelled as Assertion A and the other is labelled as
Reason R

Assertion A: Chronic poisoning by Cannabis sativa may lead to ‘run amok’.

Reason R: "Run amok' is a psychiatric condition in which a person runs deliriously in a killing

spree.
In light of the above statements, choose the correct answer from the options given below

1. Both A and R are true and R is the correct explanation of A

2. Both A and R are true but R is NOT the correct explanation of A
3. A is true but R is false

4. A is false but R is true

Options :

71087039437. 1

71087039438. 2

71087039439. 3

71087039440. 4

Question Number : 140 Question Id : 7108709870 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

71087039437. 1

71087039438. 2
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Sub-Section Number : 2
Sub-Section Id : 710870257
Question Shuffling Allowed : Yes

Question Id : 7108709871 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions
:No

Question Numbers : (141 to 145)

Question Label : Comprehension



Read the given passage carefully and answer the questions that follow

The owner of the flat, which was rented out to a student, entered this flat as the main gate was
unlocked. On entering the flat, he found two bodies, one male and another female, lying in a
pool of blood. He immediately called the police and did not disturb the scene of occurrence.
The Investigation officer, on examination of the scene, found two sharp knives lying near the
bodies and also noticed the neck was slit in both the bodies. Meanwhile, the forensic team was
also called in. The suicide notes were recovered from the pockets of each body. The clothes
were intact on both the bodies. Both the victims belonged to the same state and 1.0 revealed
that the girl had visited her friend on this fateful day who otherwise used to stay in another
locality of this city. CCTV footage recording also confirmed her entry details in this flat.

Sub questions

Question Number : 141 Question Id : 7108709872 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Who among the following is authorized to opine on the cause of death ?

1. General surgeon

2. Medicolegal expert
3. Anthropologist

4. Radiologist
Options :
71087039441. 1
71087039442. 2
71087039443. 3
71087039444. 4



Question Number : 142 Question Id : 7108709873 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Examination of handwriting in the suicide note will reveal:

1. Cause of death

2. Place of origin of these individuals

3. Whether the suicide notes were written by these victims or not
4. Age of the deceased

Options :

71087039445. 1

71087039446. 2

71087039447 3

71087039448. 4

Question Number : 143 Question Id : 7108709874 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



To confirm the self-inflicted injury, which of these are the best pieces of evidence:
A. Fingerprints on knives

B. Fingerprints on the entrance door

C. Bloodstains on the floor

D. No sign of struggle

Choose the correct answer from the options given below:

1. A and B only
2. B and D only
3. A and D only
4. B and C only
Options :
71087039449. 1
71087039450. 2
71087039451. 3
71087039452. 4

Question Number : 144 Question Id : 7108709875 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

A sharp-edged knife causes which type of wound?

1. Incised

2. Blunt

3. Lacerated
4, Deep
Options :



71087039453. 1
71087039454. 2
71087039455. 3
71087039456. 4

Question Number : 145 Question Id : 7108709876 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

The investigation, in this case, should be carried out under which one of the following?

1. 154 CrPC

2. 161 CrPC

3. 174 CrPC

4, 302 IPC
Options :
71087039457. 1
71087039458. 2
71087039459. 3
71087039460. 4

Question Id : 7108709871 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions
: No

Question Numbers : (141 to 145)

Question Label : Comprehension
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Sub questions

Question Number : 141 Question Id : 7108709872 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

71087039441. 1
71087039442. 2
71087039443. 3
71087039444. 4

Question Number : 142 Question Id : 7108709873 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

71087039445, 1

71087039446, 2

71087039447. 3

71087039448, 4

Question Number : 143 Question Id : 7108709874 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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71087039451. 3
71087039452. 4

Question Number : 144 Question Id : 7108709875 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :
71087039453. 1
71087039454. 2
71087039455. 3
71087039456. 4

Question Number : 145 Question Id : 7108709876 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :
71087039457. 1
71087039458. 2
71087039459. 3
71087039460. 4

Sub-Section Number : 3



Sub-Section Id : 710870258
Question Shuffling Allowed : Yes

Question Id : 7108709877 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions
: No

Question Numbers : (146 to 150)

Question Label : Comprehension

Read the given passage and answer the questions that follow

On a fateful day, a college girl was waiting at the local bus stand for the bus. Meanwhile, two
people on a bike (who had partially covered their faces ) passed through this bus stand. The
person sitting at the back on this bike threw a bottle containing some liquid on this girl. This
girl was rushed to the nearby hospital by the bystanders. Also, the police were informed by
some witnesses. During this time, the girl experienced a burning sensation on her face. The
investigating officer examined the details of this incident from the CCTV footage installed next
to this bus stand.

Sub questions

Question Number : 146 Question Id : 7108709878 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Acid attackers are punished under which of these sections of IPC?

1. 307

2.313

3.326 A

4. 496
Options :
71087039461. 1



71087039462. 2
71087039463. 3
71087039464. 4

Question Number : 147 Question Id : 7108709879 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Griess reagent can be used to detect which one of the following acids?

1. Sulphuric

2. Hydrochloric
3. Nitric

4. Carbolic
Options :
71087039465. 1
71087039466. 2
71087039467. 3
71087039468. 4

Question Number : 148 Question Id : 7108709880 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Which of the following scientific evidence would help prove the presence of the attackers at
the crime scene

A. Cell phone location

B. Eye witness

C. CCTV footage

D. Broken glass

Choose the correct answer from the options given below:

1. A, B and D only
2. B, Cand D only
3. A, Band Conly
4. A, Cand D only
Options :
71087039469. 1
71087039470. 2
71087039471. 3
71087039472. 4

Question Number : 149 Question Id : 7108709881 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Who among these would help the victim to come out of a state of mental trauma?

1. Pathologist

2. Anthropologist

3. Psychologist

4. Medicolegal expert



Options :

71087039473. 1
71087039474. 2
71087039475. 3
71087039476. 4

Question Number : 150 Question Id : 7108709882 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

What is the minimum punishment for those found guilty of acid attack?

1. 6 years of imprisonment

2. 3 years of imprisonment

3. 6 months of imprisonment
4. 10 years of imprisonment
Options :

71087039477. 1

71087039478. 2

71087039479. 3

71087039480. 4

Question Id : 7108709877 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions
:No

Question Numbers : (146 to 150)

Question Label : Comprehension
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Sub questions

Question Number : 146 Question Id : 7108709878 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Correct Marks : 2 Wrong Marks : 0
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Question Number : 148 Question Id : 7108709880 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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71087039470. 2
71087039471. 3
71087039472. 4

Question Number : 149 Question Id : 7108709881 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

71087039473. 1
71087039474, 2
71087039475.3
71087039476. 4

Question Number : 150 Question Id : 7108709882 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :
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